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EEILZIL = 0.350 x 0.020 x 10.000 = 0.070 m* 0.07
(1:3BB)
EEavy)—+ = 0.550 x 0.100 x 10.000 = 0550 m* 0.55
(18-8-25BB
t=10cm)

= 1

R B = 0.100 X 2 X 10.000 = 2000 | (m) (2.00)
E M = 0.550 x 10.000 = 5500 m? 5.50

(RC-40 t=10cm)
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8 Al | CcD-Efali& ;fg fg TR 300 x 300
1410
500 410 500
g, & FRIEY A=0. 70m2
HEREL A=0.47m2
550
A [ Hi =1 =X Bi {37 ® =
= 1
PREY V = 0.700 % 10.000 = 7000 | (m% (7.0)
= 1
EBERL V = 0.470 % 10.000 = 4700 | (m% (4.7)
(EcE A . RKXIERIEImKRE)
= 1
T V = 7.000—4.700-0.90 = 1778 | (mY) (1.8)
HEEIE A = 0550 % 10.000 =  5.500 m? 55
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gk vor-IIT £ FH R
% | #R OB G| = | 1
7' L v ANE K B(3) 300 % 300 x 600 Gl 1
7' LEr ANE K #1(6) 300 x 300 x 1000 Gl 1
RIGITHE K1 E 500 x 1000 x 600 & 2
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gEkt-voh-LT 5 & £
R it s S B fir 2
TLErAMEIKHE3) = &R 1
(300 x 300 x 600)
AZZVAS-/ 3 1)) = &R 1
(300 % 300 % 1000)
BIBITH KM B = G 2

(500 X 1000 % 600)
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Skt -vok—VI EBHFrAE

A =
k=] ] ES

3

% #

TUErAMEKME) | B |[NO. 4+ 166

(300 x 300 X 600)

JUErANEKBGE) | B | NO. 2+ 143

(300 % 300 x 1000)

RIGTH Sk R pid NO. 6 + 8.9

(500 x 1000 x 600)
NO. 6 + 9.2

it

46

(]




VAP AMEKI(3) (300X 300X 600) 2 & F  (ommAHyY)
% | R B A = | 1 =
7’ LE v AN K B 300 % 300 X 600 & 10 SEEFE=164ke/fE
EiTHa09)—-b 18-8-25BB m? 0.05
EEILZIL 1:3BB m? 0.05
HEa 9)—k 18-8-25BB t=10cm m? 0.38
= 1
Gl =ity (m?) (2.48)
ELREA RC-40 t=10cm m? 518
= 1
FRHEY (m?) (9.7)
STH. BAER | T 1
HBEREL 181 mk i (m% (7.7)
= 1
EEZR L (m% (1.2)
HEEIE m? 38
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(XY L * = §
B O O B2 ¢ OB = (10T 4Y)

’ H |
2 OB | 7UEvAMEKBG) IE ?ﬁj 300 % 300 X 600
520
520 110 300 110 SL_—FooE
110, 300 110 T-25 #E

i

o N A AN AV AV AV A o
- i3 p=! sl 3 EB53Y5 Y — kK
A A © (18-8-25BB)
S 8 A A WEILEIL
- o - ﬁ ; (1:38BB)
= S I I 8 I [ EgarHvy—+
S BN V\‘\(H}—?—;SBB)
HEM
(RC-40)
5(] 520 b (]
o () 620 o ()
720
£ g7 E g = =R v} H =
7LErAMEKHE [ N =10 = 10 & 10
(300 x 300 % 600) [SEEE=164kg/fE IL—-FUET-25E]
EITHav -t V = 0.300 % 0.300 X 0.050 X 10 = 0045 m° 0.05
(18-8-25BB)
EHEJLFIL V =0.520 % 0.520 X 0.020 X 10 = 0054 m° 0.05
(1:3BB)
HEa 91—k | V =0.620%0.620%x0.100 X 10 = 0384 m° 0.38
(18-8-25BB
t=10cm)
= 1

i ik = A =(0.620%0.100+0.620 X 0.100) X 2 X 10 = 2480 | (m) (248)
E M A =0.720%0.720x 10 = 5184 m? 5.18
(RC-40 t=10cm)
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& CRE R — =
1IF % :t L g 1lL ?ﬂ ==4 I:I-l- ﬁ = (10T &Y)
. M oA
B Ol | 7L3vAEKBE3) M 300 x 300 x 600
1520
500 520 500
8 NN ER1E Y
8 — —
® R L
500 520 500
1520
£ g7 it g = =R v} ® =2
R1EY V =1/2x% (1520 X 1.520+1.520 X 1.520) X 0.420 X 10 = 1
= 970 (m® (9.7)
HERL V =9.70-(0.520 x 0.520 X 0.420+0.620 X 0.620 X 0.100 = 1
((sEH. &K +0.720 X 0.720 X 0.100) X 10 = 766 | (mY) (1.7)
1B R 1Tmak i)
= 1
EXZ L V =9.70—7.66+0.90 = 119 | (m® (1.2)
HEEIE A =0620x0620x10 = 3.84 m? 38
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7 LA ANEK#E(6) (300X 300 X 1000) #1 & F  (ommHy)
% | R | B G| & = | 1 =
7’ LE v AN K B 300 x 300 x 1000 & 10 S EFEE=308ke/fA
EiTHa09)—-b 18-8-25BB m? 0.05
EEILZIL 1:3BB m? 0.05
HEa 9)—k 18-8-25BB t=10cm m? 0.38
= 1
Gl =ity (m?) (2.48)
ELREA RC-40 t=10cm m? 518
= 1
FRHEY (m?) (16.4)
STH. BAER | T 1
HBEREL 181 mk i (m®) (132)
= 1
EEZR L (m% (1.7)
HEEIE m? 38
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ALY _l_ E §
ﬁ ﬁL ==} |:|+ ﬁ = (10 &4 Y)
o [\ I
B OB | 7LEvAMEKHLG) IE fﬁj 300 X 300 x 1000
520
110 300 110 FL—Fousr=
T-25 B8
520 1
110 300 110 i
g §= »)‘.N“))».N:@ é §
A 2
g 8 a A ETLavo Y~k
e § § (18-8-25BB)
2 Brssrrarsmsd ] %"B?”’
g I" [F:22 BEovs Y-k
§, Eﬁ \‘\(1 8—?—;588)
HEHM
(RGC-40)
520 b
(] 620 b (
720
£ 1 [ g = =R v} ® =2
7LErAMEKHE [ N =10 = 10 [ 10
(300 x 300 % 1000) [&2E&=2308kg/f@ 7 L—-F ) &ET-25518]
EITHaV))—h V =0.300 % 0.300 X 0.050 X 10 = 0.045 m° 0.05
(18-8-25BB)
BEIJLAIL V =0.520%0.520 X 0.020 X 10 = 0.054 m° 0.05
(1:3BB)
HEa 91—k | V =0.620%0.620%x0.100 X 10 = 0384 m° 0.38
(18-8-25BB
t=10cm)
= 1
[ il oA A =(0.620%0.100+0.620 X 0.100) X 2 X 10 = 2480 | (m) (248)
E M A =0.720%0.720x 10 = 5184 m? 5.18
(RC-40 t=10cm)
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B Oy & = = =
1IF % :t L g 1lL ?ﬂ ==4 I:I-l- ﬁ = (10T &Y)
OBl | 7LErARSEKHLG) &l 300 x 300 x 1000
A%
2340
910 520 910
1
500 520 500
1520
£ 7 Hi g = B ff H =
FR1EY V =1/2x (2.340 X 2.340+1.520 X 1.520) X 0.420 X 10 = 1
= 1635 | (m% (16.4)
BRL V =16.35-(0.520 x 0.520 X 0.820+0.620 X 0.620 X 0.100 = 1
(BEER. RX +0.720 % 0.720 % 0.100) % 10 = 1323 | (m% (13.2)
18 RIE 1 mR )
= 1
EXZ L V =16.35—13.23+0.90 = 165 (m® (1.7)
EmEEIE A =0.620%0.620x 10 = 384 m? 38
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IRIBITHEKB 15 (500X 1,000X600) 1 & T  (oEmHY)
% | R W B AL # = | 1A =
ary)—k 18-8-25BB 3.00
= 1
Eidp o (m2) (62.00)
EigEM RC-40,t=150 m?2 12.60
TL-FUE 500 X 1000, T-2548 | #& 10 FIWMEE
= 1
PRiEY (m3) (20.7)
LT =] = 1
BERL RAXERIEIMEH | (m3) (15.2)
= 1
EXEEL (m3) (38)
HEmEIE 12.6
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sy _l_ Ry I3 E E ’F
g 1lL ’Rk& == E-l- ﬁ % (10T 4 Y)
M |
2Bl | BRSiTesEkp R IE fﬁl 500 % 1,000 X 600
EE Bl &
B= 0500 m
B2 L= 1000 m
50 B1 50 Bl (L1)
b B bl bl B (L) b1 H= 0600 m
g 25y J ig30cm avyy—+  H1 = 0750 m
iiii (74} A797" 30SWHE = §&) b1<160 18-8-25BB
o Ir ] e e = bi=160 18-8-4088 H2 = 0.150 m
| — | +—B° bl = 0.150 m
| 300 x = | RE Bl = 0800 m
394 ! .t - g B2 = 0900 m
| — L1= 1300 m
. g _
L J] o s s L2 1400 m
o e KM
50 BI (L1) 50 H3 = 0.150 m
HREHLT D) MEITZEEEE = 800 m’
% {1 H) =1 = B {3 B E
avy)—k V = (0.800 x 1.300 x 0.750—0.500 X 1.000 X 0.600) X 10-1.80
(18-8-25BB) = 3.000 m? 3.00
By g A = {(0.800+ 1.300) x 0.750+(0.500+1.000) % 0.750} x 2 = 1
x 10+8.00 = 62000 | (m) (62.00 )
E M A =0.900 x 1.400 X 10 = 12.600 mZ 12.60
(RC-40,t=150)
Ty E N =1x10 = 10 5 10
(500 X 1000, T-25§08)
10EFAr &Y
B XL ERYHI09)-+8 |METLELEE
0.49LLF 070 m? 500 m2
0.49%it5 2 1.00LLF 180 m 800 2
1.00%#8 %% 300 t 13.00 2
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FEEXITIENHREFES

SERIED)
a wmooA
g ORI | BRiGiTeEKkHE Hog 500 X 1,000 X 600
B3 L3
500 B1 500 500 L1 500
b1 B b1 b1 L b1
T ] [ ] o T ] =
N N
S5
g R | g R |
50 BI 50 50 L1 50 ) &y
B2 L2 m #BREL
B = 0.500 L = 1.000 H = 0.600 (B{HI:m)
B1= 0.800 L1 = 1.300 H1 = 0.750 H4 = 0.900
B2= 0.900 L2 = 1.400 H2 = 0.150 H5 = 0.500
B3= 1.800 L3 = 2.300 H3 = 0.150 H6 = 0.400
£ 1 H) g = Bi {37 #Hn E
RiEY V = {1/2x(1.800 x 2.300+1.800 X 2.300) X 0.500} X 10 =® 1
= 20.700 [ (m® (20.7)
HEREL V = 20.700—(0.800 X 1.300 X 0.350+0.900 X 1.400 x 0.150) = 1
EEH. xXiE x10 = 15170 | (m®) (15.2)
RIg1mk i)
= 1
GET: V =20.700—15.170--0.90 = 3844 | (m®) (38)
HEmEIE A =0.900 % 1.400 x 10 = 12.600 mZ 12.6
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TEEISE7 58
B E ¥ B E I
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EEMBELT £ & %
g Bl |4 A | 1R AR |
BEYRELT ® 1
) -MEEYEREL | B m° 10
) -MEEYERIEL | BE m° 11
THEEIREREL TAI7 I hERZE bR m’ 551
5 25 Bl ) BT SRR t=15cmLLF [ m 46
PRIE AL A #Havy-t m’ 10
PRIE AL i3 m° 11
e QUL TA77Ihb m° 26
e IE SRR Y] m° 0
BRIE AL 41 kg 435
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BEYRELT £ & =%

& | BB | & =
WY -MEEMEUEL | B m’ 10i9
WY -MEEMEUEL | B m’ 11:8
SRR ERIEL TAI7 I MR bR m’ 551:5
& 2 i 20 BT SER t=15cmL T m 46:9
BB HR AL I8 AHE5av) -k m° 109
PRIE AL IR i3 m’ 11i8
BB HR A0 I8 TA77Ibb m° 26:3
B & 4 Wi B BT m° 0i1
PRIE AL IR 84 kg 435:1
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BEYRELT 5t & &

(—=XHY)
& 5 i =1 = B 61 B =
:*/J'J—H%§% Vi = 012 X (145+435+105+1.0+3.5)
WL (AR (T LArAMEIE()) = 876
V2 = 015 x (35+7.8) = 1.70
(7' L3 AMEE2))
V3 = 011 x 41 = 0.45
(F'LAvAMELEM4))
SV o= 1091 | md 10.91
:I‘/’}'J—H%i:%% Vi = 019 X 435 = 8.27
ARt L (RAR) (BHBITHEIEO))
V2 = 035 X 1 = 0.35
(SE/Kk (1))
V3 = 033 x 1 = 0.33
(Sk#2)
V4 = 021 x 40 = 0.84
(B HHEEEE(2))
V5 = 019 x 105 = 2.00
(B HHEEEE®))
2V = 11.79 m3 11.79
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ELI 3§
BEYERELT & & sty
% G it g = =R H =
SHIEEREUEL()| A1 = 116.0+11524+27.6+43.7+875+326 = 42260 | m?
(FRAT7 IV MERZE AR (AIEBEEEBEIFERKLY)
t=4cm)
SHIERREUEL (2) A2 = 1289 = 12890 | m?
(FRI7 M MEESERR (AlIEBEEMEBEIFERKLY)
t=3cm)

A = 55150 551.50
£ 2% B U1 B L = 157+139+173 = 469 m 46.9
(SH%ERR (AEBEEMEBEIFERKLY)
t=15cmLLF)
ELSE e A I8 V = 1091 = 1091 | o 10.91
(BEravy)-~)
ELSE A I8 vV = 1179 = 1179 o 11.79
(#EFHIAVY)-1)

(FHE) (FHE)

AL AN T V = 42260 x 005 + 12890 X 004 = 2629 m? 26.29
(FA77IVH)
SERAIE V = 469 x 004 x 0023 = 004 | md 0.04
(SRR TR )
B E L AN TR W = (35 + 78 ) x 385 kg/tk = 43505| kg 435.05
(§44)
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THEEIE7 SR

b
A<
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SHET & 5t X
2 Al | 4H Al | R OB AL 3 = | @
FRAI7ILIEHET = 1
REERIE m? 694 (EEER)
BEI79—7Y
FRf% RC-40 t=15cm m’ 811 (EEER)
BEZRETAIY
== top13 t=4cm m’ 811 (EEER)
18-8-25BB
5RaVY—F t=10cm m? 41
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TAI7WIMHET £

%

4 MR B G| % =

TR m?’ 694:9 (EEE)
BEI7IAN-7Y

PR A RC-40 t=15cm m? 811i7 (EEER)
BEBEHETAIY

== top13 t=4cm m? 8117 (EEER)
18-8-25BB

gkaIV))—h t=10cm m? 41i5
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TRI7ILNHET 8 & &
(—=HY)
£ 1 it g = B H =
[EEE)
REZEIE Al 562.51 (BI#EETEEZXY) = 562.51
A2 26.60+27.70+43.70+34.40 = 132.40
(A FERELY) A= 694.91 mZ 694.9
R fiz Al 679.31 (BI#EETEEZEXY) = 679.31
(BEI79Y—7Y
RC-40 t=15cm) | A2 26.60+27.70+43.70+34.40
(Al FERKEY) = 132.40
YA = 811.71 | m? 811.7
e Al 679.31 (BI#EETEEZEXY) = 679.31
(BEZFRETRAIY
top13 t=4cm)
A2 26.60+27.70+43.70+34.40
(AEFERELY) = 132.40
TA-= 811.71 | m? 811.7
BELavh)—t A 4153 = 4153 415
(18-8-25BB
t=10cm)
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E =
1 c = iHEEE 2)
T EEE
BHoo= BB B =] E 4 & & 2 p: | I =1 BB ] E 4 b

(m) (m) (m) (m2) ANO.0+13.802 (m) (m) (m) (m2)
ANO.0+8.75 411 DMEHE
AKA1-1 5052 4110 20.76
ANO.0+13.802 411

6.198 4255 26.37
ANO.1 4.40
AKE1-1 14.218 4875 69.31
ANO.1+14.218 5.35

5.782 5.530 31.97
ANO.2 5.71
AKA1-2 16.255 5.020 81.60
ANO.2+16.255 433

3.745 4165 15.60
ANO.3 4.00
AKE2-1 16.673 4.000 66.69
ANO.3+16.673 4.00

3.327 4530 15.07
ANO .4 5.06
AKA2-2 17.373 5.425 9425
ANO.4+17.373 5.79

2.627 5915 15.54
ANO.5 6.04

20.000 5415 108.30
ANO.6 479

3.560 4790 17.05 |ANO.6 DB E
ANO.6+3.56 4.79 HE

& i 562.51
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£ ==
&t c = iHEEE 2)
BB &% (BB H& t=15cm)
B = BB B =] E 15 & B = B = BB ] I 4 b

(m) (m) (m) (m2) ANO.0+13.802 (m) (m) (m) (m2)
ANO.0+8.75 511 DM EHE
AKA1-1 5.052 5.110 25.82
ANO.0+13.802 511

6.198 5.255 32.57
ANO.1 5.40
AKE1-1 14.218 5.875 83.53
ANO.1+14.218 6.35

5.782 6.530 37.76
ANO.2 6.71
AKA1-2 16.255 6.020 97.86
ANO.2+16.255 5.33

3.745 5.165 19.34
ANO.3 5.00
AKE2-1 16.673 5.000 83.37
ANO.3+16.673 5.00

3.327 5.625 18.71
ANO .4 6.25
AKA2-2 17.373 6.520 113.27
ANO.4+17.373 6.79

2.627 6.915 18.17
ANO 5 7.04

20.000 6.415 128.30
ANO.6 5.79

3.560 5.790 20.61 |ANO.6(D BT E
ANO.6+3.56 5.79 =

& i 679.31
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£ ==
&t c = iHEEE 2)
BB & (RB t=4cm)
B = BB B =] E 15 m & B = B = BB ] T 4 b

(m) (m) (m) (m2) ANO.0+13.802 (m) (m) (m) (m2)
ANO.0+8.75 511 DM EHE
AKA1-1 5.052 5.110 25.82
ANO.0+13.802 511

6.198 5.255 32.57
ANO.1 5.40
AKE1-1 14.218 5.875 83.53
ANO.1+14.218 6.35

5.782 6.530 37.76
ANO.2 6.71
AKA1-2 16.255 6.020 97.86
ANO.2+16.255 5.33

3.745 5.165 19.34
ANO.3 5.00
AKE2-1 16.673 5.000 83.37
ANO.3+16.673 5.00

3.327 5.625 18.71
ANO .4 6.25
AKA2-2 17.373 6.520 113.27
ANO.4+17.373 6.79

2.627 6.915 18.17
ANO 5 7.04

20.000 6.415 128.30
ANO.6 5.79

3.560 5.790 20.61 |ANO.6(D BT E
ANO.6+3.56 5.79 =

& i 679.31
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.

A |

fi ¢

SKEN. 1H-53 537

il . / ;
b %%fﬁ A=2 %m%jﬁﬂ ik
X

[shsmp A-21- e fons

g N
o
= (g2 i ] :
£ hs g H—] o 50,07
©
] 4§ H
E 50 'i_- i
=K e
B 5 ; = e
2l "— = .
H = ,. Ly HEE 1000 —
B0 o - [ ___mm_____ 3
R = r- oF L ITE i o —_ HFE00D
= W el . & % 25
p— g g —=— = L Ao a =
i SI.5 o
= 1538 ] \

As
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£ ==
“+ ﬁ = GFrE &% 1 B
B> o) — 18-8-25BBt=10cm) i3> o) — M18-8-25BB,t=10cm)
B = BB B =] E 15 m & & = B o= BB L] I ¥ m H® b
(m) (m) (m) (m2) ANO.0+13.802 (m) (m) (m) (m2)
ANO.0+3.95 0.39 DEHE
4.800 0.390 1.87 [ANO.0+13.802
ANO.0+8.75 0.39 DM EHE
AKA1-1 5.052 0.390 1.97
ANO.0+13.802 0.39
6.198 0.470 2.91
ANO.1 0.55
AKE1-1 14.218 0.545 7.75
ANO.1+14.218 0.54
5.782 0.530 3.06
ANO.2 0.52
AKA1-2 16.255 0515 8.37
ANO.2+16.255 0.51
3.745 0.540 2.02
ANO.3 0.57
AKE2-1 16.673 0.285 475
ANO.3+16.673
3.327
ANO 4
AKA2-2 17.373
ANO.4+17.373
2.627
ANO.5
20.000 0.235 470
ANO.6 0.47
3.560 0.470 1.67 [ANO.6 D BT E
ANO.6+3.56 0.47 H=E
5.240 0.470 246 [ANO.6 DB E & & 4153
ANO.6+8.80 0.47 =
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THEHIE7 SR

R

&
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XE#HRT % & X

it Al | % |8 6| %

B X E R HEE#. W=15cm m 256
B X E R HEB#R. W=15cm m 15
B X E R HEE#K. W=45cm m 4
B X EE KE-XF R W=15emBE | m 2
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Gl




XERLI £

i %

£ | R B AL = | 1
AR X EE HEBZE#H. W=15cm m 256
AR X EE B R, W=15cm m 15
AR X EE HEBZE#H. W=45cm m 4
B X ER KEN-XE-BE W=15cm#BE | m 2
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XEHT 5t & =

(—=HY)

£ 1 it =1 = B {7 #H =2

A X E R L = 256.00 = 256.00 m 256.00
(BEE#H. W=15cm)

A X ER L = 15.60 = 15.60 m 15.60
(AR, W=15¢cm)

A X E R L = 400 = 400 m 4.00
(BRZEH. W=45cm)

A X E R L = 285 = 2.85 m 2.85

(KHI-XF 5825, W=15cmift &)
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B = % =
£ 7 P m = # = |1 =
X XE R
(BB EH. W=150m) NO. 0+ 000|NO. 6+ 1022 13650
NO. 0+ 292|NO. 3+ 1680 78:40
NO. 4+ 1650 | NO. 6 + 956 41:10
£ 256:00
XX E R
(EEmE. w=15em) | Z |NO. 3+ 1680 | NO. 4 + 12.16 15i60
£ 15:60
XX E R
(BEEH. W=450m) NO. 0+ 378 NO. + 2i00 CENZ))
NO. 6 + 278 | NO. + 2:00 CENE))
£ 4:00
XX E R
(REDXF RS W= Som ) i NO. 4+ 219 | NO. + 2:85 (ZE/IART-Y)
£ 285
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HEEHETER
B BB B R T
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ERRTERRT & 5 X
TR A | 38 AR g | @
HE A RT =
FRBAAT B2 =
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ERfTERERT £ & X

% | MR "B AL #

BRBALT BAEHE S 2i0

7

il




g S T £ %

ERfTERESRT 5t B st 1)
B o1 it g = B {1 B =
BRBALT N 2.00 = 2.00 H 2.00
TEHHE
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ERfTERSR T ERFAE

% #h r—= z = # 2|
BRBALT
EAEHEE NO. 3+ 924

NO. 5 + 1399
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HEH=E1-65#

C
$

I
e
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#H = B OE x (/9
# =
& Al | 8 Al | R E A 1 A
« gz =T
B #1654k
ERSE = 1
BT T = 1
EEIT = 1
¥EAR A T m® 750 (V=753.8m3)
E¥+T = 1
PRIEY T m® 150 (V=147.5m3)
BRL T# B m® 60 (V=57.0m3)
HEREL T#D m’ 100 (V=97.4m3)
ELTAET = 1
b A o 1B T m® 730 (V=729.7m3)
PERET =t 1
BT HHERE T =t 1
F19=0.72m 18-8-40BB
INBUBERE (1) | £BHMRC-40 t=15cm | m° 3 (V=3.0m3)
I 149=1.21m 18-8-40BB
FAHXPERE (2)| £##RC-40 t=15cm | m? 9 (V=9.1m3)
C#E150 % 190 x 390
227 0y9%E | H=40cm m 8 (L=8.0m)
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B B2 # & x (2/9
X =
L Bl | 38 |8 1 j TE 2 i 2
TEHE -6 5%
#3?71(1%5&#%'1 =® 1
H;ET =X 1
PU3Z!EIiE300A m 220 (L=220.1m)
PU3Z! ;#3008 m 33 (L=33.1m)
CD-Efili& HEHTF300x 300 | m 8 (L=8.0m)
B e A ER{AIE() | 300 X 400 = 1 (L=7.3m)
Sk ERIUYY)—b
LEAE() 300 1E#H m 45 (L=44.6m)
SkERIUYY)—b
LERIE2) 300 RFEANH| m 2 (L=1.8m)
Sk ERIUYY)—b
LERIER) 300 FANF m 14 (L=14.0m)
BFE0) R $300 m 6 (L=5.9m)
BIEQ) R $350 m 4 (L=4.2m)
Sk#t-vubk-ILT =X 1
Skt (1) 900 x 900 x 800 | EFk 1
Skt (2) 900 x 900 x 1000 | &FF 1
£ Kk#t(3) 800 x 1000 X 950 | & Ff 1
$k#t(4) 900 x 900 x 1150 | EFf 1
£ k#t (5) 800 x 800 x 750 | Fk 1
EKBMYITIF | 1100x 1100 x 310 | AR 1
7UEvAMEK#HH(1) | 300 X 300 X 700 | PR 2
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B 2 ¥ ¥ *x @/5
i Al | 8 Al | 7R %8 % wlz = ] R
TEHE -6 5%

*ﬁiﬁ%ﬁk:&l:l: 2 1

BrEgMiEE T 2 1
=rL=N Gr-C-2B m 26 (L=26.0m)
#*yp71vR (1) | H=1.2m m 38 (L=37.8m)
#yp71vR(2) | H=1.0m m 40 (L=39.5m)
A9h71VRA(3)  |H=1.0mX%#¥16m | m 26 (L=26.0m)

BEYRIELT % 1
V) -MEEY
ERiRL =00 m° 41 (V=40.8m3)
V) -MEEY
ERiRL i m° 27 (V=26.6m3)
aU4)—MEIFLT | ¢ 75 x L250 L 10 (N=10.0%L)
SHEAREEL() | TAZZIMEERR | m? 1,300 (A=1,298.1m2)
SHERREVEL(2) | A9 —MEEMR | m’ 120 (A=123.0m2)
SRR I MT(1) | #8%EAR t=15cmBATF | m 130 (L=127.6m)
SRR MT(2) | #A%HR t=15cmBATF | m 41 (L=41.0m)
FOEWLE | HRpavY)-b m° 41 (V=40.8m3)
FOEWALE | |EHIVYY-b m° 39 (V=38.9m3)
FREHRALIE | FAI7IVE m° 68 (V=67.6m3)
B % b ) BT m’ 0.2 (V=0.2m3)
BOEHRALE | $AH kg 3,490 (W=3,494.5kg)
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M E ¥ OE F 45
# =
|| % I =z [ il
i Al | 8 Al | #1 %ELL% 3% EL A
HEEFE1-654&
SHAET = 1
FARAI7IVNEGRET = 1
TREEIE m? 1,470 (A=1,469.2m?2)
BEIFYA-7Y
NErEE RC-40 t=23cm | m? 1,360 (A=1,358.2m2)
BEIFYA-T7Y
RC-40 t=14cm | m’ 62 (A=62.1m2)
BEIFYA-T7Y
RC-40 t=15cm | m’ 63 (A=63.0m2)
BEIFYA-T7Y
RC-40 t=25cm | m’ 87 (A=86.9m2)
BERERERT
L ERRAE RM-30 t=15cm | m’ 1,360 (A=1,358.2m2)
BERERERT
RM-30 t=10cm m? 62 (A=62.1m2)
BAHEMETRAIY
HIE top20 t=5cm m? 62 (A=62.1m2)
BAZHETRAY
xE top13 t=5cm m? 1,360 (A=1,358.2m2)
AstRE I BB R ETAIY
top20 t=5cm m? 62 (A=62.1m2)
BEBRETRAIY
top13 t=4cm m? 63 (A=63.0m2)
BEBRETRAIY
top13 t=5cm m? 87 (A=86.9m?2)
18-8-25BB
gRavy)—+ t=10cm m? 49 (A=49.0m2)
FhEEM T 28 1
fHEEM T = 1
AyaBA4S
JxA(1) H=1.8m E#70v7 | m 6 (L=5.5m)
AyaBA4S
TR (2) H=1.8m 209)-MEA | m 7 (L=6.8m)
AyaBA4S
TR (3) H=1.2m E#7097 | m 28 (L=28.3m)

85




#H O E ¥ & Fx (6/5
i Al | 8 Al | 7R %8 % ylz = ] R
TEHE -6 5%
Ay k4
xR (5) H=1.0m E#70y) | m 7 (L=7.0m)
Ay a4
xR (6) H=1.0m 1v9)-FERA | m 32 (L=32.0m)
HA—FL—JL Gr-C-4E m 8 (L=8.0m)
XE#RT = 1
XE#HRT =X 1
B RER | AREHZ. W=15cm [ m 480 (L=482.4m)
AR XERE | BREE. W=15¢cm | m 4 (L=4.0m)
BARARER | ABEEH W=45cm [ m 34 (L=33.8m)
RER T R E S | xoxrms wemens [ m 54 (L=54.1m)
BT R T 2 1
EE%NE'#'%I 2 1
HROBE | H=800 X 45 (N=45.0%)
HRBAAT BATHE H 2 (N=2.0£)
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B

mEHE 1654
s +

T

87




EREIT £ i X

g Rl | Al | #R LR B |
YEHIT = 1

AR T8 m’ 753
EELT = 1

KiEY T8 m’ 147

BRL T B m’ 57

BRL T#D m’ 97
ELNET = 1

TR ) m’ 729
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EEIT & 5 X

% | R B G| % =
= 1
BEIE A T m’ 753
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EHIT 5 6 OB s

2 5 &t =1 = B 6 B =
B IR A V = 7538 (BIfEtEEZLY) = 753.8 m’ 753.8
(#)
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£ ==
it 8 = GtHEEE 1 8
¥ 1R Al B 1R A
B & OB | 0m B TFHM@EBE| I B | B & OB | 0m B FH@EB|xI B O
(m) (m?) (m?) (m?) (m) (m?) (m?) (m?)
NO.0 35 KA2-1(+16.249) 20
9.600 5.15 494 " 3.751 2.85 10.7
NO.0+ 9.60 6.8 NO.5 3.7
10.400 6.70 69.7 " 5.000 410 20.5
NO.1 6.6 NO.5+ 5.00 45
10.000 5.25 52.5 " 13.749 475 65.3
NO.1+10.00 3.9 KE2-1(+18.749) 5.0
10.000 3.65 36.5 " 1.251 495 6.2
NO.2 34 NO.6 49
3.922 3.50 13.7 " 5.500 3.75 20.6
KA1-1(+3.922) 3.6 NO.6+ 5.50 2.6
8.078 410 33.1 " 2116 2.00 42
NO.2+12.00 4.6 KE2-2(+7.616) 14
8.000 6.15 49.2 " 2.884 1.35 3.9
NO.3 7.7 NO.6+10.50 1.3
3.922 9.05 35.5 " 9.500 1.55 14.7
KE1-1(+3.922) 10.4 NO.7 1.8
5.078 12.10 61.4 " 10.116 2.35 23.8
NO.3+ 9.00 13.8 KA2-2(+10.116) 29
5.047 12.95 65.4 " 6.414 3.40 21.8
KE1-2(+14.047) 12.1 NO.7+16.53 3.9
5.953 7.30 435 347 450 15.6
NO.4 25 NO.8 5.1
4.500 250 11.3 2.55
NO.4+ 4,50 25
9.547 2.20 21.0
KA1-2(+14.047) 1.9
2.202 1.95 43 & i 753.8
KA2-1(+16.249) 20
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BT £ & *
% | R B AL = | @
=® 1
RIEY T m? 147i5
BRL T#B m® 57:0
HEREL T®# D m® 97i4
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E%xT 5 & £

(—=KHY)
% G it g = B H =
ERiEY V1 = 404 (BEETI&XY) = 40.4
(#)
V2 = 937 (HEKEEMILY) = 93.7
V3 = 134 (&&= sY) = 13.4
TV = 1475 m? 1475
BEREL V =570 HEE&EYEEIXY) = 57.0 me 57.0
(8 B)
EREL Vi = 214 (BEBET KVY) = 21.4
(8 D)
V2 = 715 (HEKkEEMILY) = 715
V3 = 45 (#E&YEEIXY) = 45
YV = 97.4 m? 97.4
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ETAET £

o

2

g

3]

1%

B fr

#

il

1

V&I AR

T8

729
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BLTUWET i+ & 2

(—=K YY)
% 7 it g = B fsr H =
EEELTNE | [RE£L]
FE AR Al 753.8
EE¥LT KiEY 1475
Gzl
E¥XT EBREEH) 154.4
V = ( 7538 + 1475 )
— 1544 = 09
729.7 m® 729.7
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7

TE{HE-651%

J_gé.'e
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WEEET £ Bt %
(5] Al | #E Al | R B AL & = =
EELT = 1
(GE T T T
FREY TR m® 40 )
(GE L+ T T
EHREL % D m® 21 )
BRTTHEERT = 1
F1)=0.72m 18-8-40BB
INEUBEEE (1) EBEHRC-40 t=15cm | m? 3
F15=1.21m 18-8-40BB
B hAPERE(2) HEBEHRC-40 t=15cm | m? 9
CF&150 x 190 X 390
ZER7 nyyiE H=40cm m 8

97




E¥XT & F X

e | R B = | 1
= 1
RiEY T m® 40
= 1
EEREL % D m® 21
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EELTT 5t & £

B Lo it g = B B =
RHEY) \2! (BRHEY (L)) = 8.90
V2 (FR1EY (R)) = 31.50

= 1

LV = 4040 | (m® (40.4)
BEREL Vi (BRL (L) = 5.90

(D)

V2 (BEREL(R)) = 15.50

= 1

IV = 2140 | (md) (21.4)
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£ =
1 c = (it 58 &2 % 2)
K O Y WL K O Y WL
B = OB | 0@m B FH@EE| i 1 B & i Bl FYEBE| 2 &
(m) (m®) (m%) (m®) (m) (m%) (m®) (m®)
NO.O KA2-1(+16.249)
9.600 3.751
NO.0+ 9.60 NO.5
10.400 5.000
NO.1 NO.5+ 5.00
10.000 13.749
NO.1+10.00 KE2-1(+18.749)
10.000 1.251
NO.2 NO.6
3.922 " 5.500
KA1-1(+3.922) NO.6+ 5.50
8.078 " 2116
NO.2+12.00 KE2-2(+7.616)
8.000 " 2.884
NO.3 NO.6+10.50
3.922 9.500 0.45 43
KE1-1(+3.922) NO.7 0.9
5.078 10.116 0.45 46
NO.3+ 9.00 KA2-2(+10.116)
5.047 6.414
KE1-2(+14.047) NO.7+16.53
5.953 347
NO.4 NO.8
4500
NO.4+ 4.50
9.547
KA1-2(+14.047)
2.202 & & 8.9

KA2-1(+16.249)
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E =
“+ ﬁ = Gt EE % 2 B
K E Y R K E Y R
B = OB | 0@m B | FHM@EE| i B = B & i Bl FYEBE| 2 &
(m) (m®) (m%) (m®) (m) (m%) (m®) (m®)

NO.O KA2-1(+16.249)

9.60 3.75
NO.0+ 9.60 NO.5

10.40 5.00
NO.1 NO.5+ 5.00

10.00 13.75 1.30 17.9
NO.1+10.00 KE2-1(+18.749) 26

10.00 1.25 2.60 3.3
NO.2 NO.6 26

3.92 " 5.50 1.30 7.2
KA1-1(+3.922) NO.6+ 5.50

8.08 " 212
NO.2+12.00 KE2-2(+7.616)

8.00 " 2.88 0.25 0.7
NO.3 NO.6+10.50 05

3.92 9.50 0.25 24
KE1-1(+3.922) NO.7

5.08 10.12
NO.3+ 9.00 KA2-2(+10.116)

5.05 6.41
KE1-2(+14.047) NO.7+16.53

5.95 347
NO.4 NO.8

4.50
NO.4+ 450

9.55
KA1-2(+14.047)

2.20 315

KA2-1(+16.249)
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£ ==
&t c = (it 5 &2 % 2)
B R L WL #®w R L L
B = BB B TFYEBE| I 1 B & i Bl FYEBE| 2 &

(m) (m®) (m%) (m®) (m) (m%) (m®) (m®)
NO.O KA2-1(+16.249)

9.600 3.751
NO.0+ 9.60 NO.5

10.400 5.000
NO.1 NO.5+ 5.00

10.000 13.749
NO.1+10.00 KE2-1(+18.749)

10.000 1.251
NO.2 NO.6

3.922 " 5.500
KA1-1(+3.922) NO.6+ 5.50

8.078 " 2116
NO.2+12.00 KE2-2(+7.616)

8.000 " 2.884
NO.3 NO.6+10.50

3.922 9.500 0.30 2.9
KE1-1(+3.922) NO.7 0.6

5.078 10.116 0.30 3.0
NO.3+ 9.00 KA2-2(+10.116)

5.047 6.414
KE1-2(+14.047) NO.7+16.53

5.953 347
NO.4 NO.8

4500
NO.4+ 4.50

9.547
KA1-2(+14.047)

2.202 & & 5.9
KA2-1(+16.249)
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E =
“+ ﬁ = Gt EE % 2 B
# K L (R #H K L (R
B = BB B TFYEBE| I B = B & i Bl FYEBE| 2 &
(m) (m®) (m%) (m®) (m) (m%) (m®) (m®)

NO.O KA2-1(+16.249)

9.60 3.75
NO.0+ 9.60 NO.5

10.40 5.00
NO.1 NO.5+ 5.00

10.00 13.75 0.60 8.2
NO.1+10.00 KE2-1(+18.749) 1.2

10.00 1.25 1.20 15
NO.2 NO.6 1.2

3.92 " 5.50 0.60 3.3
KA1-1(+3.922) NO.6+ 5.50

8.08 " 212
NO.2+12.00 KE2-2(+7.616)

8.00 " 2.88 0.20 0.6
NO.3 NO.6+10.50 0.4

3.92 9.50 0.20 1.9
KE1-1(+3.922) NO.7

5.08 10.12
NO.3+ 9.00 KA2-2(+10.116)

5.05 6.41
KE1-2(+14.047) NO.7+16.53

5.95 347
NO.4 NO.8

4.50
NO.4+ 450

9.55
KA1-2(+14.047)

2.20 15.5

KA2-1(+16.249)
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PERET £ i X
% | R B G| 3 = | ¥
FE+5=0.72m 18-8-40BB
INEIBEEE (1) HEFRC-40 t=15cm | m’
Ft45=1.21m 18-8-40BB
B hHRXBERE(2) H#AMRC-40 t=15cm | m°
CFE150 x 190 x 390
Z2iR7 0y )& H=40cm m
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BEEET Bt H £

£ 1 it =1 = B {7 #H =2
INEYERE (1) V = 298 = 2.98 me 2.98
(FE19=0.72m 18-8-40BB)
(EE#EARC-40 t=15¢cm)
EHAXEEREEQR) | V = 905 = 9.05 me 9.05
(FEt9=1.21m 18-8-40BB)
(EE#EARC-40 t=15cm)
Z=/7°ny) L = 8.00 = 8.00 m 8.00

(CFE150 x 190 x 390)
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IGATFTOHERT ERAE

pi(| = % -
£ 1 TE 5 = # = | 1
INBUBERE (1) Z | NO. 6+ 1190 |NO. 7 + 240 10i2
FhABERE(2) = |NO. 5+ 1670 |NO. 6 + 410 106
72 /7 )& = |NO. 6+ 770 |NO. 6 + 14.10 8:0
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AN AR BOREERE R

& S B NEYEERE(Y) ENREEREQ2) B & &
Fi9E m 0.72 1.21
avyy—k 18-8-40 BB m’ 2.98 9.05 12.03
B B m” 14.92 27.25 42.17
B #h#t FEEER t=10mm m” 0.82 0.82
i t=15cm RC-40 m” 6.27 12.81 19.08
EEEE m’ 6.3 12.8 19.1
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INEUZERR (1) HEHEE frfE NO.6+11.93 ~ NO.7+2.39(%)

Ruklg B= 0.30 m
ATE AN 1: 0.00 | #H «l 1. 000 FEEREHIE b = 0.05 m
Tk 1: 0.30 | &l a2 1. 044 SEYgEER H = 0.72 m
&5 | BEH X [ B E g Wrmfd  ATEEE | WmEEE | EfME o2 U—» Hl Stz FLRERT [T

1 0.76 0.528 0.315 0.760 0.793 0. 628
2 0.72 3.09 0.516 0. 294 0.720 0. 752 0.616 0. 941 4,674 1.922 2. 287
3 0.70 4.76 0.510 0.284 0.700 0.731 0.610 1.376 6.909 2.918 3. 380
4 0. 69 2.35 0.507 0.278 0. 690 0.720 0. 607 0. 660 3. 338 1. 430 1.633
3 10. 20 2.977 14. 921 6.270 7.300
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FEhEEE (2 HEHEE fr i NO.5+16.7~ NO.6+4.13{F3f &
Kimig B= 0.40 m
ATE AN 1: 0.00 | #&H «l 1. 000 FERERHIE b = 0.10 m
Tk 1: 0.50 | &t a2 1.118 SEYgEER H = 1.21 m
&5 B XREEEEE | K 8 Wrisfd | ATmEEERE | TEEE | EEMiE  =2v2U—» e H Hikf FERE R o fE i
1 1.30 1. 050 0.943 1. 300 1.453 1. 250
2 1.18 5. 63 0. 990 0. 820 1.180 1.319 1.190 4. 963 14. 784 @) 6. 869 6. 981
3 1.18 1.57 0. 990 0. 820 1.180 1.319 1. 190 1.287 3.923 1. 868 1.853
4 1.18 1.30 0. 990 0. 820 1.180 1.319 1.190 1. 066 3. 249 1.547 1.534
5 1.18 2.12 0. 990 0. 820 1.180 1.319 1. 190 1.738 5. 298 2.523 2.502
B 10. 62 9. 054 27. 254 0. 820 12. 807 12. 870
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el ey 7 g

CZI S S S N

9.6m¥l)
f M o' =R 2
ZERIOvy N= 960 x 040 / (020 x 040) = 4800 480 {&
(C#& 150 % 190 x 390)
EILZIL V= 960 X 001 X 015 x 2 + 0.19 X 0.01
(1:2.5) X 039 X 2 x (960 / 040 ) = 006 0.06 m3
FIEEILZIL V= 0005 x 960 X 2 + 0005 X 040
(1:2.5) x (960 / 040 ) = 014 0.14 m3
% e W= 11.84 11.84 kg
(SD345 D10)
ERIOVIIBEREE L= 9.6 96 m
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JE T 1 o 7 R Mook F B & 9.6ml)

%2 W =® B =
avo)—k V= 020 X 045 X 96 = 086 0.86 m3
(18-8-40BB)

iy g A= 045 X 2 X 96 = 864 8.64 m2
H A= 030 X 9.6 = 288 288 m2
(RC-40 t=10cm)

% e e W= 18.29 1829 kg
(SD345 D10)

HEEIE A= 030 X 9.6 = 288 29 m2
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HF

TEHE 16547
K # &8 9 T
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HEkBEYMT &£ 5 X
i Al | 48 Al | R | B G| # = | 1 =
E¥ELTT =
(& tT T T8
RIEY +® m? 93 1)
(&t T T8
HBEREL +® D m? 71 )
;& T = 1
PU3%! {8 300A m 220
PU3E!{8;&300B m 33
CD-Effli& m 8
B B A EAE (1) = 1 (L=7.3m)
53 EVYL R
LEAIE (1) m 44
& mavy)-+
LB A (2) m 1
& mavy)-+
LB A7 (3) m 14
28 () m 5
28 (2) m 4
& k#t-vuk—I T = 1
£ k#H1) 900 X 900 x 800 AT 1
£k #(2) 900 X 900 x 1000 | EFT 1
£ K #1(3) 800 x 1000 x 950 | &ify 1
£k #(4) 900 % 900 x 1150 | EFT 1
£ Kk #i(5) 800 X 800 x 750 AT 1
ST IS 1100 x 1100 X 310 | &F7 1
7' Vv AMEEKHE(1)| 300 x 300 X 700 AT 2
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E¥LXT &£ FH X
4 R B AL B =k
= 1
RIEY T m’ 93i7
= 1
HERL T# D m® 71i5
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LT 5t B £

& 1 &t " = B {7 B 8
RiEY Vi (FR#EY (L)) 52.20
V2 (RR#EY (R)) 41.50

=X 1

IV 93.70 (m%) (93.7)
HBEL Vi (EBERELWL) 42.60
V2 (#BEREL(R)) 28.90

=X 1

IV 71.50 (m) (71.5)
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£ ==
3 8 = Gt 5 & % )
K O OY W K O Y WL
B & BB Bl TFY@EBE| X1 B = B & OB | 0m B FH@EB|I B O
(m) (m?) (m?) (m®) (m) (m?) (m?) (m®)
NO.0 0.3 KA2-1(+16.249) 0.4
9.600 0.30 29 " 3.751 0.45 1.7
NO.0+ 9.60 0.3 NO.5 0.5
10.400 0.35 3.6 " 5.000 0.50 25
NO.1 0.4 NO.5+ 5.00 0.5
10.000 0.40 40 " 13.749 0.40 55
NO.1+10.00 0.4 KE2-1(+18.749) 0.3
10.000 0.45 45 " 1.251 0.30 0.4
NO.2 05 NO.6 0.3
3.922 0.50 20 " 5.500 0.25 14
KA1-1(+3.922) 05 NO.6+ 5.50 0.2
8.078 0.45 3.6 " 2116 0.20 0.4
NO.2+12.00 0.4 KE2-2(+7.616) 0.2
8.000 0.35 238 " 2.884 0.10 0.3
NO.3 0.3 NO.6+10.50
3.922 0.30 1.2 " 9.500
KE1-1(+3.922) 0.3 NO.7
5.078 0.30 15 " 10.116 0.05 05
NO.3+ 9.00 0.3 KA2-2(+10.116) 0.1
5.047 0.35 1.8 " 6.414 0.10 0.6
KE1-2(+14.047) 0.4 NO.7+16.53 0.1
5.953 0.50 3.0 347 0.05 0.2
NO.4 0.6 NO.8
4,500 0.60 2.7
NO.4+ 4,50 0.6
9.547 0.45 43
KA1-2(+14.047) 0.3
2.202 0.35 0.8 & i 52.2
KA2-1(+16.249) 04
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£ = =4
3 8 = Gt HEE 2 B
K # Y (R K # Y (R b
Al o= B Bk B | FMHm@EmBE| i & b A= BB [i7] B | FHm@EBE| L L
(m) (m?) (m?) (m?) (m) (m?) (m?) (m?)

NO.0 0.1 KA2-1(+16.249) 0.4

9.60 0.15 14 " 3.75 0.30 1.1
NO.0+ 9.60 0.2 NO.5 0.2

10.40 0.20 2.1 " 5.00 0.20 1.0
NO.1 0.2 NO.5+ 5.00 0.2

10.00 0.35 35 13.75 0.10 14
NO.1+10.00 05 ||KE2—1(+18.749)

10.00 0.50 5.0 " 1.25 0.25 0.3
NO.2 05 NO.6 0.5

3.92 0.50 20 " 5.50 0.25 14
KA1-1(+3.922) 05 NO.6+ 5.50

8.08 0.45 3.6 " 212
NO.2+12.00 0.4 KE2-2(+7.616)

8.00 0.35 238 " 2.88
NO.3 0.3 NO.6+10.50

3.92 0.35 14 " 9.50
KE1-1(+3.922) 0.4 NO.7

5.08 0.40 20 " 10.12 0.10 1.0
NO.3+ 9.00 0.4 KA2-2(+10.116) 0.2

5.05 0.40 20 6.41 0.10 0.6
KE1-2(+14.047) 0.4 ||NO.7+1 6.53

5.95 0.40 24 347
NO.4 0.4 NO.8

4.50 0.40 1.8
NO.4+ 4,50 0.4

9.55 0.40 3.8
KA1-2(+14.047) 04

2.20 0.40 0.9 415
KA2-1(+16.249) 04
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£ = =4
3 8 = Gt 5 & % )
R L L # R L L
B & BB Bl TFY@EBE| X1 B B & BB B TFY@EmB| X B| &
(m) (m?) (m?) (m?) (m) (m?) (m?) (m?)
NO.O 0.2 KA2-1(+16.249) 0.5
9.600 0.20 1.9 " 3.751 0.50 1.9
NO.0+ 9.60 0.2 NO.5 0.5
10.400 0.25 26 " 5.000 0.50 25
NO.1 0.3 NO.5+ 5.00 0.5
10.000 0.35 35 " 13.749 0.40 55
NO.1+10.00 0.4 KE2-1(+18.749) 0.3
10.000 0.40 40 " 1.251 0.25 0.3
NO.2 0.4 NO.6 0.2
3.922 0.40 1.6 " 5.500 0.20 1.1
KA1-1(+3.922) 0.4 NO.6+ 5.50 0.2
8.078 0.35 238 " 2116 0.15 0.3
NO.2+12.00 0.3 KE2-2(+7.616) 0.1
8.000 0.25 20 " 2.884 0.05 0.1
NO.3 0.2 NO.6+10.50
3.922 0.20 0.8 " 9.500
KE1-1(+3.922) 0.2 NO.7
5.078 0.20 1.0 " 10.116 0.05 05
NO.3+ 9.00 0.2 KA2-2(+10.116) 0.1
5.047 0.20 1.0 " 6.414 0.10 0.6
KE1-2(+14.047) 0.2 NO.7+16.53 0.1
5.953 0.30 1.8 347 0.05 0.2
NO.4 0.4 NO.8
4,500 0.40 1.8
NO.4+ 4,50 0.4
9.547 0.40 3.8
KA1-2(+14.047) 04
2.202 0.45 1.0 = 426
KA2-1(+16.249) 05
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£ = =4
3 8 = Gt HEE 2 B
# K L (R i R L (R b
Al o= B Bk B | FMHm@EmBE| L & b A= BB [i7] B | FHm@EBE| L L
(m) (m?) (m?) (m®) (m) (m?) (m?) (m®)

NO.0 0.1 KA2-1(+16.249) 0.3

9.60 0.10 1.0 " 3.75 0.25 0.9
NO.0+ 9.60 0.1 NO.5 0.2

10.40 0.10 1.0 " 5.00 0.20 1.0
NO.1 0.1 NO.5+ 5.00 0.2

10.00 0.25 25 13.75 0.10 14
NO.1+10.00 0.4 ||KE2—1(+18.749)

10.00 0.40 40 " 1.25 0.15 0.2
NO.2 0.4 NO.6 0.3

3.92 0.40 1.6 " 5.50 0.15 0.8
KA1-1(+3.922) 0.4 NO.6+ 5.50

8.08 0.35 238 " 212
NO.2+12.00 0.3 KE2-2(+7.616)

8.00 0.25 20 " 2.88
NO.3 0.2 NO.6+10.50

3.92 0.25 1.0 " 9.50
KE1-1(+3.922) 0.3 NO.7

5.08 0.30 15 " 10.12 0.05 05
NO.3+ 9.00 0.3 KA2-2(+10.116) 0.1

5.05 0.30 15 6.41 0.05 0.3
KE1-2(+14.047) 0.3 ||NO.7+1 6.53

5.95 0.25 15 347
NO.4 0.2 NO.8

4.50 0.20 0.9
NO.4+ 4,50 0.2

9.55 0.20 1.9
KA1-2(+14.047) 0.2

2.20 0.25 0.6 28.9
KA2-1(+16.249) 0.3
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BET £ & =X
£ ] | B G| & =k
PU3ZY B ;E300A m 220
PU3ZY{AI;&300B m 33
CD-Effli& m 8
B B A EEIE (1) = 1 (L=7.30m)
& mavy)-+
LEEE (1) m 44
& mhavy)-+
LEEIE (2) m 1
& mavy)-+
LEEI;E (3) m 14
BE (1) m 5
B1E (2) m 4
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BiET 5t & £

£ 1 i =1 =® B {1 # =
PU3ZI{EIE300A| L = 220.10 = 220.10 m 220.10
PU3E!AI;&300B| L = 33.10 = 33.10 m 33.10
CD-Ef8l;& L = 8.00 = 8.00 m 8.00
(18 W FH 300 % 300)

BHRAEAEM | L = 7.30 = 7.30 m 7.30
& FHIVH) - L = 4460 = 44.60 m 44.60
LEEE (1)
S EHIV) - L = 180 = 1.80 m 1.80
LEAIE (2)
BRIV - L = 14.00 = 14.00 m 14.00
LE A% (3)
BRE ) L = 590 = 5.90 m 5.90
BRE(2) L = 420 = 420 m 4.20
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fET ZERFE

Al = =

PU3T!AI;#E300A| A2 [NO. 0 NO. 3 + 19.70 91

Z |NO. 6+ 080 |NO. 6+ 850 7

A |[NO. 0 NO. 5 + 16.70 108

= |NO. 7+ 350 [NO. 7 + 1560 13

H 220

PU3Z!{A;&300B NO. 4+ 650 |[NO. 5+ 080 15

NO. 5 130 |[NO. 5+ 860 7

NO. 5+ 910 |NO. 5 + 19.80 10

H 33

CD-Ef8l;& Z |NO. 3+ 1970 |[NO. 4+ 6.10 8
(4& 7 FI300 x 300)

BHRAERAE(N) Z |NO. 4+ 650 7
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fiET ERFAS

Al
% = R g |
S&EHIVY-b
LEMAE (1) E | NO. + 850 [NO. 7+ 240 13
Z | NO. + 11.70 | NO. 7 + 16.50 4
& [ No. + 17.20 | NO. 6 + 4.10 11
& [ No. + 7.0 | NO. 6 + 14.10 11
& [ No. + 060 |NO. 7 + 350 2
&t 44
S&EHIVY-b
LEMAIE (2) NO. + 240 [NO. 7+ 3.00 0
NO. + 11.10 | NO. 7 + 11.70 0
NO. NO. 7 + 0.60 0
it 1
S&EHIVY-b
LEMAI7E (3) E | NO. + 300 [NO. 7+ 11.10 8
NO. + 1410 | NO. 7 6
H 14
afE ) A [ No. + 1710 | NO. 6 + 2.60 5
afE Q) E [ No. + 040 [NO. 6 + 270 4
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PU3E!AI;E (300 300) 31 E & (10m241))
% R ¥ | B 6L | 32 =k =
JIS A 5372

PU3ZYEI;E 300 x 300 & 5.00 BEEE=413keg/®
BEILZIL 1:3BB me 0.11

M RC-40 t=10cm m2 5.60

avy)—rE 3% 300/ ® 18.0

JL—Foo & 300 T-25 #EE L5 2.0

EmEEIF m? 5.6
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AR L * E § E
g 1lL K& ==3 I:I-I- % = (10m4L))
B % | PusEEE ';fg ;;'Jg 300 X 300
520
110 300 110
b
50 b5
fl &= (PC4-300M)
X bmiCIHAIE. VT V-FU) EFHRE
8 [
§ S PU3ZE! B300 H300
< JIS A 5372 31@
o = ‘ HEJLAEIL
=i 1:3BB
00 360 00 RGC-40
560
% 7 it E = =R v H B
PU3Z!{AI;E N = 10.000<2.000 = 5.000 1@ 5.00
(300 % 300) (5% E8=413ke/fH]
BE)LZIL V =0.360 x 0.030 X 10.000 = 0.108 m® 0.11
(1:3BB)
B A =0.560 % 10.000 = 5600 m? 5.60
(RC-40 t=10cm)
avH)—hE N = (10.000—1.000)=0.500 = 180 # 18.0
(3%& 300F9)
JL—FoF%& | N = = 2.0 54 20
(300 T-25
B)
HMEEIE A =0.560 % 10.000 = 5600 m? 5.6
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PU3Z!{AI;&E (300 X 400) # 2 * (10m%4 1))
% | R ¥ | B 6L | 32 =k =
JIS A 5372
PUSE!AI;E 300 x 400 & 5.00 SEEE =472ke/fE
BELSIL 1:3BB m° 0.10
s RC-40 t=10cm m2 5.30
av9)—hE 3%E 300/ ® 18.0
JL—Foo&E 300 T-25 #AH L5 2.0
HEmEEIF m? 53
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AR L * E § E
ﬂ 1lL K& ==} |:|-I- % = (10m Y)
B % | PUSEIEE ';fg ;;'g 300 X 400
520
110 300 110
b4
50 55
@& % (PC4-300M)
¥ SmITIHDIE. 1 V-Fu) BEBRE.
8 v /]
g o
ol PU3Z B300 H400
JIS A 5372 3%
= BEILAIL
ST v ¥ T:3BB
J L 2 OB o#
10d 330 _i0g RC-40
530
£ 1 &t =1 =X =R [v) B =
PU3E! (A& N =10.000+2.000 = 5.000 & 5.00
(300 x 400) [SZEE=472kg/{@E]
BEJLAIL V =0.330%0.030 x 10.000 = 0.099 m 0.10
(1:3BB)
E M A =0.530 % 10.000 =  5.300 m? 5.30
(RC-40 t=10cm)
avy)—kE N = (10.000—1.000)-=0.500 = 18.0 58 18.0
(3%& 300M)
GJL—F5Z& | N = = 2.0 # 2.0
(3008 T-25 #H
B)
HmEEIF A =0.530x 10.000 = 5300 m? 53
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CD-Eff;#& (#&lrFH 300x300) # = =* (10m4Y)

% | iR BB = | =
CD-Ef8l;& BT 300 % 300 @& 5.0 £E B8 =506ke/ B
BELSIL 1:3BB m® 0.07
ELREYH)—p 18-8-25BB t=10cm m? 0.55

= 1
b M A (m?) (2.00)
H g+ RC-40 t=10cm mZ 5.50
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R L * E §
B & % = i g5 £ (10m4Y)
F B | CcD-EffiE |l BR300 x 300
JY N ;E *ﬁ‘
410
197.5 IHE 197)5
- : : é; CD-EfIi# (44Hi M) 300A
s IS M BMELAIL
= oo el wmaym-i
—o vy -
2 000 00e 18-8-2588
J L £ B M
RC-40
0' 350 '00
550
e o1 i g = B I H =
CD-Ef8li& N =10.000-2.000 = 5000 & 5.0
(FEMrE 300 x [T-25F && E&2=506kg/{E)
300)
BE)LAIL V =0.350 x 0.020 X 10.000 = 0.070 m® 0.07
(1:3BB)
BRIV V =0.550 x0.100 x 10.000 = 0550 m® 0.55
(18-8-25BB
t=10cm)
= 1
B QL m I A =0.100 X 2 x 10.000 = 2000 | (m? (2.00)
H i+t A =0.550 % 10.000 = 5500 m?’ 5.50
(RC-40
t=10cm)
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Mz =. = Yol
) B i A
H 2B (1) —%
4 g WK i = X NOE ] B OE
m
B i ) B 300 X400 L= 7.25
SRR (0. 115+0.07) /2 = 0.093 m m3
A N— K 18-8-25BB V1=0.30X0.093X7.25 0.202 0. 20
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HOAL &8GR &

H 1 AEAE 300 X 400 10. Om24 »
78
15 5 500
00 300 10
BHRAEREI0R FTEK
3 ®HoE TR Btk (B AImm) SEER
1 o B x H H H1 BI B2 | (kg/2m)
300 X 400 400 545 510 610 4117
—_ - 300 X 500 500 645 510 610 469
300 X 600 600 745 530 630 578
{yn -+avhy-+(18-8-25BB)
300 X 700 700 845 530 630 639
S W HE®a> 4 )—k (18-8-25BB)
J l HEHEH (RC-40)
T B] T
B2
4 i s B 1 = o =
{(Ed|
H Al 300x400 || N= — 5
A 23— | m3
27 ) — | 18-8-25BB || V= #EEEECEH = —
18-8-25BB m3
Fopgka ) -} t=10cm V=0.510X0. 10X 10. 0 =[ o0.51
m2
[F A A= 0.10X2X10.0 = 2.00
m2
£ BE M |RC-40, t=10cn|| A= 0.610X10.0 =| 6.10
m2
FE IR A= 0.610x10.0 =| 6.10
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gEERIV)-PLENEE (1) (300 E¥R) M E X

(1om&yY)
% ] | B 6L | 2 = =
LERIE (1) 300 1Z¥EF & 16.7
BEILEIL 1:3BB m® 0.10
H g+ RC-40 t=10cm mZ 5.00
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BE 4 W E F B =

(10m L)
L2 X | s 1 | B
BB | SE— LR EE () iﬁ ;;"gl 300 {E# R
500
#Emar ) — FLEE 300 2 R)
(YA LEEHS)
EEILAZI) 1:38BB
500
HEE# RC-40
£ 1 i g = B I H =
LEEE (1) N =10.000=0.600 = 16.667 & 16.7
(300 1E#MA)
BE)LAIL V =0.500 x 0.020 X 10.000 = 0.100 m® 0.10
(1:3BB)
FEHEH A =0.500 % 10.000 = 5.000 m?’ 5.00
(RC-40
t=10cm)
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#RERIVY)-PLEMAE (2) (300 RIEANA) 8 E X (10m%Y)

% | R | B AL 2 = |1 3
LE{RE (2) 300 REANA & 16.7

BEILSIL 1:3BB m® 0.10

H g+ RC-40 t=10cm mZ 5.00
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B & #H = § g5 £ (10m4Y)

BB | SE— LR (2) iﬁ ?é‘ 300 BEANE

#EEa v ) — bLEREIE 300 EANA
oA LEBERT)

e
feN

85
10090

100 105

HEILHI 1:3BB

500

HEE# RC-40

£ 1 i g = B 4T #H =2
LEAIE (2) N =10.000=0.600 = 16.667 @ 16.7
(300 FMFEEAN
)
BE LS V =0.500 x 0.020 X 10.000 = 0.100 m® 0.10
(1:3BB)
H i+t A =0.500 % 10.000 = 5000 m? 5.00
(RC-40
t=10cm)
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#RApV)-LEMEE(3) (300 FEANE) B & R (10m%Y)

% | R | B AL 2 = =
LE{BIE (3) 300 EANFE & 16.7

BEILEIL 1:3BB m® 0.10

HE+ RC-40 t=10cm mZ 5.00
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B 4 ® &= FF T 2

(10m¥ L)
2 X | 3 1 |
BB | SE)— LB A (3) iﬁ ;;"gl 300 EANE
500
100 300 100
mary)— FLEEIE 300 EANE)
(JH Ao LRENR)
gle® =7 =l s
S TRCT S
EE)L4S) 1:3BB
500
HREM RC-40
£ 1 i g = B I B =

LE A1 (3) N =10.000-0.600 = 16.667 & 16.7
(300 FEANA)
BE)LAIL V =0.500 x 0.020 X 10.000 = 0.100 m® 0.10
(1:3BB)
FELHEH A =0.500 % 10.000 = 5.000 m?’ 5.00
(RC-40
t=10cm)
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BfE0N) % ¢$300) #H = * (10m%4Y)

% | R | B AL 2 = |1 =
afE0) 2% 300 & 5.0

BEILEIL 1:3BB m® 0.05

M RC-40 t=15cm m? 4.40
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B 4 ® &= FF T 2

(10m¥ L)
I .
|| BRfEA A me 300
400
50 300 5(
& {1 BZ-300 x 2000
=i S
BELLIL 1:3
10‘ 240 ‘100 HEE# RC-40
440
£ 1 i g = B I B =
BFEQ() N =10.000-+2.000 = 5.000 & 5.0
(1E% ¢ 300)
BE)LAIL V =0.240 x 0.020 X 10.000 = 0.048 m® 0.05
(1:3BB)
FELHEH A =0.440 x 10.000 = 4.400 m> 4.40
(RC-40
t=15cm)
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SEQ2) (B ¢350) ¥ = X (10mL)

% | R | B 6L | 2 = | =
BfE(2) 2% 350 (1] 5.0

BEILEIL 1:3BB m® 0.06

H g+ RC-40 t=15cm mZ 4.80
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Ry 1 * = §
E 1lL Z& 5= a ﬁ = (10omHY)
|| atE A w350
458
b4 #350 54 4% BZ-350 x 2000
N
5 2 s
J BELZL 1:3
10‘ 280 ‘100 £EA RC-40
480
£ 1 i g = B I H =
BITE (2) N =10.000-2.000 = 5.000 & 5.0
(1% ¢ 350)
BE)LAIL V =0.280 x0.020 X 10.000 = 0.056 m® 0.06
(1:3BB)
FEHEH A =0.480 x 10.000 =  4.800 m?’ 4.80
(RC-40
t=15cm)
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gk vok-IIT &£ FH R
£ | R OB G| = | 1
£k#H0) 900 x 900 x 800 Gl 1
£ k#(2) 900 x 900 x 1000 Gl 1
=8 (E) 800 X 1000 x 950 & 1
£ k#(4) 900 X 900 X 1150 & 1
&£k #i(5) 800 x 800 x 750 Gl 1
ST 1100 x 1100 X 310 Gl 1
7’ LEr AMEKBH(1) 300 x 300 x 700 & 2
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£kt -vyk—IL T

£ 1 i =1 = =7 =
=¥/ ¢ 1¢)) = AT 1
(900 x 900 x 800)
¥/, 1¢) = &R 1
(900 % 900 X 1000)
EKH(3) = & FRr 1
(800 x 1000 X 950)
EKkp4) = & FRr 1
(900 % 900 % 1150)
EKkm(5) = &R 1
(800 x 800 X 750)
SR TIF = AT 1
(1100 %X 1100 %X 310)
T LdrAMEIKHE(T) = &R 2
(300 x 300 x 700)
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gKkm-vvk—IVI &EFri

Ed
[:]

=
=

pi| =1 % -
% #h r—= z = # 2|
= %)8/.16)) Z |[NO. 4+ 65
(900 % 900 x 800)
£ k#(2) A [NO. 5+ 144
(900 x 900 x 1000)
K #(3) Z |[NO. 6+ 03
(800 x 1000 % 950)
= ¥)8.10) B |[NO. 6+ 28
(900 x 900 x 1150)
&£k #i(5) A [NO. 7+ 155
(800 x 800 X 750)
S TS E |NO. 1+ 1.6
(1100 1100 % 310)
7L ANE K (1) NO. 5 + 1.0
(300 % 300 x 700)
NO. 5+ 88
5t
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S£K#t (1) (600X 600X 650) % & =X (1087 4 Y)
% | R ARV R = |13 =
avy)—k 18-8-25BB 3.44

= 1
B (m2) (53.00)
TL-FUhE 600 X 600, T-254f B >4 10 FIVEE
M RC-40t=150 m2 10.00
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R L * = §
B 4 #%H = & g £ (0BT 4 Y)
ioOoR | sk A 600 x 600 x 650
ROE
B= 0600 m
900 900 L= 0.600 m
. . . . 150) zzz (150; - H = 0650 m
% T—i‘;gp*—;é; B600 x L600FH H1 — 0800 m
g - /;/(h;\ V54, 003 H2 = 0.150 m
A [ITTTT Hilll TTITI 9 b_l - 0150 m
g & ) _ ARARNE () i ey K g B1 = 0900 m
; B2 = 1.000 m
F s TS 3 L= 000 m
iE N L2 = 1.000 m
~E RC-40
1000 . %Ex‘ﬁ : %Eﬁ*#
150 B zzz B 150 H3 = 01 50 m
9 %09+ E 0.70 m?
MEILHEEE 5.00 m?
e Lo i g = = iv H =
avoy)—k V =(0.900 % 0.900 X 0.800—0.600 X 0.600 x 0.650) X 10-0.70
(18-8-25BB) = 3.440 m? 3.44
Einp A = [(0.900+0.900) % 0.800+(0.600+0.600) X 0.800} X 2 = 1
%X 10+5.00 = 53.000 (m?) (53.00)
H i+t A =1.,000x 1.000x 10 = 10.000 mZ 10.00
(RC-40.t=150)
rYL-FuhE N =1x10 = 10 5 10
(600 x 600, T-2540 B )
ERED,
B XL 9 51092 |IET5EBER
0.49LLTF 070 ° 500 m?
0.49%#Z 1.00LLF 180 3 800 2
1.00%#8 25 300 13.00 2
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gkHt(2) (600X 600% 850) % B * (1087 4 Y)
% | R | B AL | 2 = |1 =
avy)—k 18-8-25BB 4.34

= 1
B (m2) ( 65.00)
TL-FUhE 600 X 600, T-254%f B >4 10 FIIEE
B RC-40t=150 m2 10.00
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3 L = =
HE 4 % &8 &# F £ (1087 4 )
BB | Skt A 600 x 600 x 850
B O®
= 0.600 m
= 0.600 m
razu-s s mmams  H = 0850 m
BiE ] — . H1 = 1.000 m
o o) H% —————— T H2 = 0.150 m
5 g L3¢ ,f;ff;/ = LERAlL J | b1= 0.150 m
48 = 80 o 5 B1= 0900 m
- e 1| B2= 1000 m
s "5l L1= 0900 m
wl ol r i L2 = 1.000 m
B B
H3 = 0.150 m
9 Ha09)-+E 0.70 m?
MEITLHEALEE 500 m?
B o it = = B B B
avyy)—k V =(0.900 % 0.900 % 1.000—0.600 % 0.600 x 0.850) X 10-0.70
(18-8-25BB) = 4340 m° 434
Einy o] A = [(0.900+40.900) x 1.000+(0.600+0.600) x 1.000} x 2 = 1
x 10+5.00 = 65.000 | (m) ( 65.00 )
ELRE A A =1.000x1.000% 10 = 10.000 m> 10.00
(RC-40t=150)
TV-FUrE N =1x10 = 10 ® 10
(600 X 600, T-25%H B )
INERED)
B XL #3957V E (MET AR REE
049LLTF 070 m? 500 32
0.49%#8 % 1.00LLF 180 8 800 m?
1.00%8 %5 300 3 13.00 2
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g kHt(3) (500x 700 X 800) % B * (1087 4 Y)
% | R | B AL | 2 = |1 =
avy)—k 18-8-25BB 4.10

= 1
B (m2) (62.00)
TL-FUhE 500 x 700, T-254f B >4 10 FIIEE
B RC-40t=150 m2 9.90
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3 L P = =
‘ O Vo x'ang— A7
HE f % &8 & F &  qwwuy
OB | Ek#@3) A 500 x 700 x 800
RO%
1000 1000 = 0500 m
150 700 150 150 700 150 = 0700 m
(169)  (362) _(169) T*fa;g‘j;ﬁégm“m’w H= 0800 m
| | o H1 = 0950 m
8 ,—%\ ’% 52. 845V = 0.150
8 §L$ NS ==t ii@%é>b$ — H2 = 0. m
i — — Sveras i< 8 bl = 0.150 m
s UEE (3) g
E ~ % ¢ B1= 0800 m
NN ) B2 = 0.900 m
N\ Y b 2 L1= 1000 m
N> ~ 2= 1100
(552) ) - . m
L -2 RC-40
139] (422 139\} o #H %Eﬁ . %ﬁ%*j
150 700 150 H3 - 0150 m
9 %09t E 0.70 m?
MEITLHEPEE 5.00 m?
% o i g = B #H =
avo)—k V =(0.800 % 1.000 X 0.950—0.500 x 0.700 % 0.800) X 10—0.70
(18-8-25BB) = 4.100 m? 4.10
Einp A = {(0.800+ 1.000) % 0.950+(0.500+0.700) X 0.950} x 2 = 1
%X 10+5.00 = 62.000 (m?) (62.00)
H g+ A =0.900x1.100x 10 = 9.900 m2 9.90
(RC-40,t=150)
rYv-FuhE N =1x10 = 10 ® 10
(500 x 700, T-25¢8 B )
INERIED,
B XL 9 51092 |IET5EBER
049 F 070 ° 500 m2
0.49%#Z 1.00LLF 180 3 800 2
1.00%#8 25 300 13.00 2
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(10ERTHY)

£ Kk#t(4) (600x600%1,000) ¥ = =
% r| R | B G| = |13 =
=Dl e 18-8-25BB 5.03
= 1
B (m2) (7391)
rL-FUhE 600 X 600, T-254%f B >4 10 FIVEE
M RC-40t=150 m2 9.10
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v e o = = -
B % B & F T gmmu

J
| 7 4 a5 600 x 600 X
F k¥t (4) g 1,000
- 150 :Zz 150 = 0.600 m
150)  (300) (150! 144) 311 (144 = 0600 m
A 71300 X 300 b ‘ ELd#R BER H= 1.000 m
52,980 H1= 1.150 m
= ) H2 = 0.150 m
g gl g 7 TEwg e bl = 0.150 m
______________ § 3 g 4 '
o E . ?l B1= 0900 m
. ¢ B2 = 1.000 m
g | L1= 0900 m
N cts = 2= 1.000 m
. 93 (:;? 193 . A0 300 (150 (1300()0; (150) N EEH RC-40 %E}E : %)ﬁ%*ﬁ-
H3 = 0.150 m
Lt 28] BRI HIV9)-bE = 069 n’
MEITHEREE = 491 m’
£ 1 i g = = iv H =
avg)—k V =(0.900 x 0.900 x 1.150—0.600 x 0.600 X 1.000) X 10-0.69
(18-8-25BB) = 5029 m? 5.03
Einp A = [(0.900+0.900) x 1.150+(0.600+0.600) X 1.150} X 2 = 1
x 10+4.91 = 73910 [ (m) (73.91)
ELHEH A =(1.000 x 1.000-0.3 x0.3) X 10 = 9.100 m2 9.10
(RC-40,t=150)
TV-FUrE N =1x10 = 10 5 10

(600 X 600, T-25%H B )

ERED,

B xL I 5109+ |METHRERETR
0.49LLF 070 ? 500 m?2
0.49%#4 % 1.00LL T 180 3 800 m?
1.00%8 %5 300 3 13.00 2

152




g kHt (5) (500 x 500 X 600) % B * (108 4 Y)
% r| R | B AL | 2 = |1 =
avy)—k 18-8-25BB 3.11

= 1
B (m2) (4391)
rL-FUhE 500 x 500, T-25H B >4 10 FIIEE
M RC-40t=150 m2 7.20
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v e o = =
B % B & F T gmmu

3 |
BBl | &EKk#t(5) ;fg ?gl 500 x 500 X 600

B= 0500 m
800 800 L= 0.500 m
{10y (300) (100) N H= 0600 m
k71300 % 300 Tgfg;;yﬂb‘assoonsoom H - 07 50 m
o V52. 850 H2 = 0150 m
I =-——— | 2 e o bl = 0150 m

gl 8| & [ 5 2 N _
I T e - 2 8¢ Bl= 0800 m
. s | VEEE () ° = B2 = 0900 m
| ~ 5 L1= 0800 m
M5 o3 A LI00% 300 (1507 (300) (150} N\ LH#H RC-40 L2 = 0.800 m

150 550 0 - 800 %Eﬁ : %ﬁ%*#

RS H3 = 0.150 m

PRI Hav)-tE = 019
MEITHEREE = 491 m’

£ 1 i g = B I H =
avg)—k V =(0.800 x 0.800 x 0.750—0.500 x 0.500 X 0.600) X 10-0.19
(18-8-25BB) = 3114 m? 3.11
B A = {(0.800+40.800) x 0.750+(0.500+0.500) X 0.750} x 2 =® 1

x 10+4.91 = 43910 [ (m) (43.91)

ELHEH A =(0.900 X 0.900-0.3 x0.3) X 10 = 7.200 m2 7.20
(RC-40t=150)
TV-FUrE N =1x10 = 10 5 10

(500 x 500, T-24 B)

R iED)
B XL 9 51092 |NMETHERER
0.49LLTF 020 ° 500 m?
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EKMEITFIF (700X 700 X 255) % & * (10857 25 )

% 7|8 IR = | & =
a4 —k 18-8-25BB 1.02
= 1
B (m2) (18.36 )
YU-FohE 700 x 700, T-2548 B " 10 FIVEETE
avy ) —rEEL | EFH m3 2.52
Hl ¢ 16 %150 i 8
=5 SD345 D13 kg 25.8
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LY L * = §
E 1lL Z& ==} a ﬁ = (10ERFHY)
s 7 |
OBl | KBTS | Al 700 x 700 X 255
ROE
= 0.700 m
= 0.700 m
H= 0255 m
% 450 450 ngo%o—;;gé 0 450 450 10
t’ avhy—rRYEL
]
g - J s
#£7#5 D13 L=370 N=3 _ [ _ [ R
ZHh D13 1=280 N=3
" Z/ D13 L]:OSOZO N=2 / \ o] §
S5 DI3 1370 N-3 Zf D13 1L=280 N=3
Zf D13 =320 N=2
£ i i g = = iv #H =
avy)—k V = (0.31+0.20) /2 x 1.10-(0.29+0.22) /2 X 0.70) x 10
(18-8-25BB) = 1.020 m? 1.02
Eiy o] A = ((0.31+0.20) /2 X 1.10 X 2+(0.29+0.22) /2 X 0.70 X 2 = 1
+(0.31+0.20) X 1.10+(0.29+0.22) x0.70) X10 = 18.360 | (m?) (18.36 )
TV-FUrE N =1x10 = 10 5 10
(700 x 700, T-2540 B )
av))-rERIEL V = (1.10x1.10 X 0.35-0.70 X 0.70 X 0.35) X 10
(#8R) = 2520 m? 2.52
Al L N =8
(16 x150) = 8 A 8
E=fF W = (0.37 X 3+0.32 X 2+0.28 X 3) X 0.995 x 10
(SD345 D13) = 25771 kg 25.8
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7 L3 v AMEKBE(1) (300X 300X 700) %1 = 3] (0EFHY)

£ | R B G| = | 15 =
7Ly ANE Kt 300 X 300 x 700 & 10 SEEE=187kg/f@
ETHavy)—b 18-8-25BB m® 0.05
BE)LZIL 1:3BB m? 0.05
HE#Ear9)—k 18-8-25BB t=10cm m® 0.38
= 1
& _E & (m?) (248)
EHEM RC-40 t=10cm m? 5.18
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=: Vi #* = = =
g 1lL K& ==3 I:I-I- % = (10T HY)
. # |
B OBl | 7LFvAMEKBE() ;fg fﬁl 300 x 300 x 700
520 520
110‘ 300 ‘110 110 300 110
4% Fo" et 3000550
Eé ? \ PU3Z1300B (B300xL300xH700
i T = 8 & : " “ EH 530 Y~ 18-8-2588
Pl ! T S P l
< R 3 | o~ 8 8 1Y
& *g (=3 §m ‘ ’ (K] X
520 H#ao> o 1)— bk 18-8-25BB
HEEH RC-40
b 620 b -
720
£ g B =1 = B {1 ® =
7LErAMEKHE [ N =10 = 10 & 10
(300 x 300 % 700) [EEE=187ke/f8 HL—FV)ZET-258E]
EITHaV))—h V =0.300 % 0.300 X 0.050 X 10 =  0.045 m® 0.05
(18-8-25BB)
BEIJLAIL V =0.520 % 0.520 X 0.020 X 10 =  0.054 m® 0.05
(1:3BB)
HEEa 91—k | V =0620%0.620%0.100% 10 = 0.384 m® 0.38
(18-8-25BB
t=10cm)
= 1
i ik = A =(0.620 % 0.100+0.620 X 0.100) X 2 X 10 = 2480 | (md (2.48)
E M A =0.720%0.720 X 10 = 5184 m? 5.18
(RC-40 t=10cm)
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HEH=E1-65F
B & Y B £ T
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BEYEET £ it X
& A |+ Al | R B AL = | ¥ t:3
FhE& A T = 1
h—rFL—L Gr-C-2B m 26
Fyb71VA(1) H=1.2m m 37
F9b71VA(2) H=1.0m m 39
2971 A(3) H=1.0m>4¥1.6m m 26
¥+ T = 1
CERT T 5
RiEY T m® 13 )
CERT T 5
BRL T# B m® 57 =)
CERT T 5
BRL T# D m?® 4 )
BEYEIELT = 1
WH-MEEMEIEL | B m? 40
Wh)-MEEMEEL | ER m® 26
avy)—-hEIFLT ¢ 75 x L250 7l 10
SRR LI BR(1) SHEEERE t=15cmBLF | m 127
SHAERRUIBR(2) SHIERR t=15cmBlL T m 41
SEMEUEL() | TRI7IVMEERR m? 1,351
SHERREUEL(2) | U9 -MEEERR m? 123
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BEYHEET & i X

B | Al | ] OB | %% 2|
1B AL EE T = 1

OB kAL IR HEpavyY)—b m° 40

OBk IR H|EARIVY—b m° 38

OB R0 IE TFA77Ib m’ 67

SEIEAE £ 25 B Y1 B m’ 0

FROE R AL I L) kg 3,494
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BEYBIELT £ & %
% | R BB A % 2|
=rL=l Gr-C-2B m 26:0
*yh71V2(1) H=1.2m m 37i8
*yhIIVA(2) H=1.0m m 39:5
Fyh71VA(3) H=1.0m% #¥1.6m m 26:0
KRIEY T m° 13i4
BERL T# B m* 57:0
BERL I# D m* 4:5
WY -MEEMBUEL | B m° 40:8
VY -MEEMEUEL | B m° 26:6
a9 EIFLT @ 75 X L250 A, 10:0
SHE iR N (1) SRR t=15cml T m 12736
SR I BT (2) SRR t=15cml T m 41:0
THEEREREL(1) TAI7 MRS AR m’ 1,351:3
Sk ERIEL(2) V7Y - MEEM m? 123:0
OB i AL A&y -k m° 40i8
BOEHAL IE |HRIVY—h m° 38i9
BOEHAL IE TA77Ibh m° 67:6
BiRALE SHLE bR U B m® 0i2
BROE R AT 841 ke 3,494:5
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BEMEELT 6t & £
(—xXHY)
£ 71 H) = B iy #Hn E
BhEM L T
-FL- L = m 26.0
(Gr-C-2B)
F9b71VA (1) L = m 37.8
(H=1.20m)
1971V (2) L = m 395
(H=1.00m)
A iziom | & T m 26.0
E%+T
PRHEY V = (BEpREImERo&KY) m® 13.4
()
BRL V = 407 + 163 m3 57.0
(L8 B) (&M E THFERQ)EY)
BERL vV = m° 45
(% D)
BEYpIELT
V) -MEEY V1 = (FL3vANUEMAE()~(3)) = 15.40
HEL (BH)
V2 = (LE!EI;E250) = 1.60
V3 = auy)-MEE()~(2)-FhH K KEE) = 23.80
YV = 4080 | m? 40.80




BEYRELT 5t &

(—=HY)

% FR H) =1 =X Bi {31 #Hn =
WH-MEEY | VI = (BATTUBEE()~(5)) = 15.20
HuEL (ER5)

V2 = (7L3vANUEMEIE3)) = 0.60

V3 = (&EKk#t(1)) = 0.20

V4 = (HBEHR1)~2) = 0.80

V5 = (EHABEE0)~(2) = 6.30

V6 = (Quy)-MEE(3)~(4)) = 2.40

V7 = (EfE70v5(1)~(2) = 1.10

YV = 2660| m® 26.60

avy)-rElFLT N = A 10.0
(@ 75 % L250)
MR YIER() L = m 127.6
(SH3ERR t=15cmBLTF)
SERUIER(2) L = m 410
(EH%ERR t=15cmBLT)
SHEEAREUEL() [ AT = = 04530 | m?
(FRIPIMERZERR t=4cm)

A2 = (BIfRMEEYIYVELTEFER KLY = 3528 m’

SHERREUEL(1)~(8))
YA = 135130 m? 1,351.30

SEMREUEL() | A2 = RIEEEYIRYIELTERKLY = 1230 m’ 123.00
(A5 -MAZERR t=100m) V9 -t EEL(1)~(2))

164




BEYRELT it & &
=)
£ L7 HJ =1 = B {1 =
E AR T
EL BRI v 40.8 = 4080 | m° 40.80
(BfRIV)-M)
EL BRI Y 2660 + 1230 x 010 = 3890 [ m? 38.90
€3 mVYIEY)
EL BRI Y, 13513  x 0.05 = 6757 m° 67.57
(PA77IH)
B Y, ( 1276 x 004 + 410 x 010 )
(TR AR U ) x 0.023 = 021 | m° 0.21
M E W1 2600 X 164 kg/m = 42640 kg
=rFL=)
w2 3780 x 87  keg/m = 32886 kg
(29b710A(1))
w3 3950 X 74  kg/m = 29230 kg
(29b71VA(2))
w4 2600 X 74  kg/m = 19240 kg
(29b71VA(3))
W5 400 x 132 keg/#K = 5280 kg
GL=Fu5 &)
W6 3950 X 265 keg/#K = 1046.75| kg
GL-F5%(2)
w7 300 X 206 keg/#K = 6180 kg
V-7 %(3)
w8 1100 x 385 keg/#K = 42350 kg
GL-F %)
w9 100 X 384 kg/#K = 3840 kg
HL-Fu9%(5))
W10 500 X 512 kg/#K = 256.00| kg
(fEERtR Z=(1))
W11 1350 X 278 kg/#K = 37530| kg
(fE#RtR Z=(1))
YW = 349451 | kg 3,494.51
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£ =
“+ %: = Gt & & % =)
#w R L R L
B = OB | 0m B\ FHM@EE| iz B 1 B & i Bl FYEBE| 2 &
(m) (m®) (m%) (m®) (m) (m%) (m®) (m®)
NO.O KA2-1(+16.249)
9.600 3.751
NO.0+ 9.60 NO.5
10.400 5.000 0.05 0.3
NO.1 NO.5+ 5.00 0.1
10.000 13.749 0.05 0.7
NO.1+10.00 KE2-1(+18.749)
10.000 1.251 0.10 0.1
NO.2 NO.6 0.2
3.922 " 5.500 0.20 1.1
KA1-1(+3.922) NO.6+ 5.50 0.2
8.078 " 2116 0.15 0.3
NO.2+12.00 KE2-2(+7.616) 0.1
8.000 " 2.884 0.05 0.1
NO.3 NO.6+10.50
3.922 9.500
KE1-1(+3.922) NO.7
5.078 10.116
NO.3+ 9.00 KA2-2(+10.116)
5.047 0.05 0.3 6.414
KE1-2(+14.047) 0.1 NO.7+16.53
5.953 0.10 0.6 347
NO.4 0.1 NO.8
4500 0.10 05
NO.4+ 4.50 0.1
9.547 0.05 05
KA1-2(+14.047)
2.202 & & 45

KA2-1(+16.249)
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£ ==
“+ ﬁ = Gt &E &8 £ =)
LR EUEL SRR EURL
B = BB E & |FH@BE| I & 1 B & i E ¢ |FH@EB| 2 B| @&
(m) (m) (m?) (m*) (m) (m) (m?) (m®)
NO.0 7.7 KA2-1(+16.249) 3.9
9.600 7.70 73.9 3.751 3.95 148
NO.0+ 9.60 7.7 NO.5 40
10.400 8.20 85.3 5.000 4.40 22.0
NO.1 8.7 NO.5+ 5.00 48
10.000 7.70 77.0 13.749 470 64.6
NO.1+10.00 6.7 KE2-1(+18.749) 46
10.000 6.70 67.0 1.251 4.65 58
NO.2 6.7 NO.6 47
3.922 5.45 21.4 " 5.500 5.45 30.0
KA1-1(+3.922) 4.2 NO.6+ 5.50 6.2
8.078 420 33.9 " 2116 6.40 135
NO.2+12.00 42 KE2-2(+7.616) 6.6
8.000 4.40 35.2 " 2.884 6.20 17.9
NO.3 46 NO.6+10.50 58
3.922 470 18.4 9.500 5.50 52.3
KE1-1(+3.922) 48 NO.7 5.2
5.078 6.20 315 10.116 5.85 59.2
NO.3+ 9.00 7.6 KA2-2(+10.116) 6.5
5.047 7.60 38.4 6.414 8.25 52.9
KE1-2(+14.047) 7.6 NO.7+16.53 10.0
5.953 7.55 44.9 " 5.00
NO.4 75 NO.7+16.53
4500 6.65 29.9 347
NO.4+ 4.50 58 NO.8
9.547 490 46.8
KA1-2(+14.047) 40
2.202 3.95 8.7 = & 945.3
KA2-1(+16.249) 3.9
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BEYRELT ERHFASE

p:| ) " =
% e = = 3 g |1
e N
(Gr-C-2B) NO. O NO. 1 + 9
NO. 1+ 690 | NO. 2+ 350 17
£t 26
F9r71VA (1)
(H=1.20m) Z [NO. 2+ 380 |NO. 2+ 19.30 17
NO. O NO. 1 20
£t 37
F9r7IVA(2)
(H=1.00m) p.l NO. 4 + 700 5
NO. 4 + 1740 | NO. 6 16.00 34
£t 39
9r 71V (3)
(H=1.00mZHH=1.6m) NO. 0+ 980 | NO. 1 9
NO. 1+ 6.90 | NO. 2 3.50 17
5 26
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BEYMRELT ERFE

p:l| " =
£ %fr\ = 5 = £ = | 1
SHEERRYIBR (1)
S =15emlF| Z |NO. 1+ 050 [NO. 1+ 550 7
Z |[NO. 1+ 550 | NO. 3+ 1500 59
Z | NO. 4+ 380 | NO. 4+ 650 3
Z | NO. 4+ 790 | NO. 4 + 1400 14
= |NO. 6+ 430 [NO. 6 + 6.90 2
= |NO. 7+ 060 [NO. 7 + 1510 15
A4 |NO. 7+ 1670 | NO. 8 24
£t 127
SHEERR YN BR (2)
S =15emlF| Z | NO. 6 + 1190 [NO. 7 + 16.20 25
NO. 6+ 780 |NO. 7+ 0.60 15
£t 41
TL-FurEN) stz
JIS250F t=90 A [NO. 0 NO. 2+ 360 4 0.5m/#%
TL-FUuhE(2) %A
B200FH t=44 Z |NO. 2+ 360 |NO. 3+ 970 28 1.0m/#&
A4A |NO. 3+ 970 |NO. 3+ 1950 11
£t 39
TL—-FU9E(3) stz
B300F t=130 Z |NO. 4+ 660 |NO. 5+ 12.70 3 0.5m/#%
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BEYRELT ERHFASE

A

% ol = = - 2 |
TL-FuhE(4) %A
B300F t=50 NO. 5+ 1350 [ NO. 6+ 1.80 4 1.0m/#&
NO. 5+ 200 [ NO. 6 + 890 7

it 11
TL—-Fu9 2 (5) %A
B600 X L600 t=50 y NO. 5 + 13.10 1 ¥t BB
TR E (1)
B700 x L1500 X t6 =) NO. 4+ 850 |NO. 4 + 1750 5
TEe R E (2)
B570 x L1000 X t6 =) NO. 4+ 850 |NO. 4 + 1750 13
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ary ) — MEEYREL T

EFTFTURUENE (1) o2& W OE
[
440
120 200 120
TL—F 5% 2
B200F8 (t=44)
WrEFE A= 0.44 X 0.37-0.30 x 0.044-0.20 X 0.206
= 0.108 m2
‘|7 )—F
RiE#H= V= 0.108 x 28.5 = 3.1 m3
#&Erav v —b
RiE#H= V=
N ] = | o =
&% B fE A = By % B
BATIT
UZYEIE() L No. 2 + 3.6 No. 3 + 9.7 m 28.5
B200-H250
& g m 28.5
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ary ) — MEEYREL T

EFTFTURLAIE (2) g -
B
450
150 200 100 B g D)
B200F (t=44)
§ S
BiEFE A= 0.45 x 0.44-0.30 X 0.044-0.20 X 0.276
= 0.130 m2
|EHaI)—F
miEs s V= 0.130 x 115 = 15 m3
$REFa> o) —k
miE#H= V=
n : B o | = =
£ W 4E A= T O
ERE Tl
UZEIE(2) LR No. 3+ 9.7 No. 3 +19.5 m 115
B200-H320
& 2 m 11.5
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ary ) — MEEYREL T

EFFFTURLEE (3) o OB R OE
73
550
150 300 100
g &

BTEFE A= 0.55 X 0.40-0.30 X 0.25

= 0.145 m2
|EHaI)—F
RiE#H= V= 0.145 x 425 = 6.2 m3
$REFa> o) —k
MiEHE V= = m3
N : & e ] = =
£ W 4E L T O
BT
UZYEIE(3) L No. 3 +19.5 No. 6 + 2.0 m 425
B300-H250
& g m 425
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vy Y — MEEDEEL T
SRR HTUBL I (4) o & 3 OE

600

150 300 150

JL—=—F20&A

B300A (t=50)
[INEEEN NN
§ S
Wi EfE A= 0.60 X 0.50-0.40 x 0.05-0.30 X 0.30
= 0.190 m2
|EHaI)—F
RiE#H= V= 0.190 X 8.2 = 1.6 m3
$REFa> o) —k
MiEHE V= = m3
n 3 & e ] = =
£ W 4E L T O
BT
UZEIE@) L No. 6 + 2.0 No. 6 + 8.9 m 8.2
B300-H350
& g m 8.2
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ary ) — MEEYREL T
SETTURMAIE (5)

150 300 120
fE iR 2=
570 1000 % 6

pd
§ &
WrEfE A= 0.60 X 0.50-0.30 x 0.35
= 0.195 m2
| o) —bk
RiE#H= V= 0.195 % 145 = 28 m3
$fEFa> o) —k
MiEHE V= = m3
L ; 5 XYy AN =
& ¥ G A z B =
BETET
UZYEI;E(5) L No. 7+ 1.8 No. 7 +15.1 m 145
B300-H350
& g m 14.5

175




vy Y — MEEDEEL T
L%y A NUBLHRE (1) o & 3 OE

460

105 250 109

avoy—rEN) 31E300H
JL—F U HE () T-255 & L IFB300A

‘ > EE)BEME A=0.033m2
? (F4K) BFETE A=0. 069m2

)

405
250 90

65

(fAEAREF) A= 0069 m2
(fAlE=) A= 0.033 m2

EZEPrIES

RiE#H= V=
$Eparo)—bk
RiE#H= V= 0069 x 435+ 0.033 x 83 = 5.7 m3
& W B A= B % B T
TLx¥ Rk avy-rEN)
UZEIE() R No. 0 No. 2 + 3.6 m 435 N=83#&
B250-H250
& B m 435 N=83%&

176



ar 7 ) — MESEYEEEL T
L%y 2 NUBLHRE (2) o & 3 OE

a9 )— b (2) 430x500x% 130
JL—F &) NS EIF430x500 % 130

8 [ I (L3) B A=0. 057m2
(A4K) B EFE A=0. 156m2
§ /L J
(A& AKX A=  0.156 m2
(fI;E=) A=  0.057 m2
|EHaI)—F
RiE#H= V=
$kEra~ o) —k
miE#H= V= 0.156 X 355+ 0.057 X 68 = 9.4 m3
N : & e ] = =
£ W 4E L By m B W B
TLx¥ Rk IV9)-+E(2)
B“%f’“"ﬁfé? L No. 4 + 6.6 No. 5 +12.7 m 355 N=68%
& g m 35.5 N=68%K
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ar 7 ) — MESEYEEEL T
L%y 2 NUBLHRE (3) o & 3 OE

490

00 240 150 . .
TJL—F 2 J% @)
400 x 1000 x 50
B2 U—F

|HoO)—F

TITITTTTPTIT

(U240) B E 8 A=0. 038m2 s

(falEARE) A= 0.038 m?2
(a>4')—k) A= 0.10 X 0.15+0.15 X 0.20+0.105 X 0.29

AN
(200)

1
(490)

50 240 |
N
290

200 (150)

= 0.075 m2
|EHaI)—F
miEs s V= 0075 X 8.0 = 0.6 m3
$REFa> o) —k
miEsh s V= 0038 x 8.0 = 0.3 m3
& W B A= B % B
PAVE 23N
UZYEIE(3) L No. 5 +13.5 No. 6 + 1.8 m 8.0
U240+##38Co
~ 2 m 8.0
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ar 7 ) — MESEYEEEL T
LA 250 o & 3 OE

I

B EfE A=0.032m2

55

(A& AKX A= 0032 m2

#|Epa> o) —k

RiE#H= V=
$REFa> o) —k
miE#H= V= 0.032 x 51.3 = 1.6 m3
N ] o N -
£ W 4E L T O
LE! ;& 250 L No. 6 + 1.8 No. 6 + 84 m 6.2
L250
L No. 6 + 9.4 No. 7 + 3.1 m 13.5
R No. 6 + 2.7 No. 6 + 4.3 m 10.3
R No. 6 + 7.2 No. 7+ 1.8 m 21.3
& 2 m 51.3

179



ary ) — MEEYREL T

oKkt (1)

800 800

150 500 150 150 500 150
S L—F >4 700x 700 x50

EeftO 300 x 300

—————— g
F — N

150

3 8
g 8 ; E 3 g D (’,7;;0-5\);,\ N EE O 240 x 240
o T _: o = IN B+ O ¢400
V = 0.80 % 0.80 X 0.95-0.60 X 0.60 X 0.50-0.50 X 0.50 X 0.80
—(0.30 X 0.30+0.24 X 0.24+0.40 X 0.40 X 71 /4) X 0.15
= 0.187 m3/& R
|EHaI)—F
RiE#H= V= 0.187 x 1.0 = 0.2 m3
$Epar o —bk
miE#H= V=
- " BE]] ; w =
& (LI & z B #H = i3]
Ek¥t(1) L No. 5 +13.1 (&l 1.0
500 X 500 X 800
& g Fir 1.0
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ary ) — MEEYREL T

A o' H E
B
%6(1) 3600
500 2600 500 250
8 8
B
V= (3.60 X 0.30-0.50 X 0.23) X 0.25 = 0.241 m3
250
#%A©2)
A= 0.25%0.30
= 0.075 m2
8

‘|7 —F

RiE#H= V= 0241 x 1.0+ 0075 X 7.5 = 0.8 m3
e v —b

RiE#H= V=

N ] & e ] = =

£ W 4E A= By m B W B
#Ba0) L No. 5 +13.1 (&l 1.0
BB L No. 7 +14.4 No. 7 +16.4 m 75

AN =
= 5]
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ary ) — MEEYREL T

R (1) g -
B
300
BrEFEA= (0.30+0.56)/2 % 0.85
= 0.366 m2
8
560
|EHaI)—F
RiE#H= V= 0.366 X 45 = 1.6 m3
$REFa> o) —k
miE#H= V=
& W B A= T £
BEHBEREQ) R No. 0 No. 0 + 4.6 m 45
& g m 45
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ary ) — MEEYREL T

SRR (2) g -
B
250
FrEmFfEA= (0.25+0.70)/2 X 1.45
_ = 0.689 m2
2
700
|EHaI)—F
RiE#H= V= 0.689 X 6.8 = 47 m3
$REFa> o) —k
miE#H= V=
& W B A= T £
FEHREEEE(Q2) R No. 3 +19.4 No. 3 +16.1 m 6.8
& g m 6.8
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ary ) — MEEYREL T

a7 ) — hEE(D) g -
B
120
] MRERE A= 012X 1.06+0.58 X 0.12
g = 0.197 m2
@
B
(700)
|EHaI)—F
RiE#H= V=
$REFa> o) —k
miE#H= V= 0197 x 125 = 25 m3
N B o e ] = =
£ W 4E A= T O
avy)—-rEE(1) L No. 3+ 85 No. 3 +19.1 m 12.5
& 2 m 12.5
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ary ) — MEEYREL T

a7 ) — hEE(2) 0 & 0 &
B
120
] BTEFE A= 0.12x1.13+0.58 X 0.12
8 = 0.205 m2
7
[
(700)
| o) —bk
RiE#H= V=
$fEFa> o) —k
miE#H= V= 0.205 X 38.0 = 7.8 m3
N i = N -
& ¥ G A z B =
VY —-hEE(T) R No. 4 +17.4 No. 6 + 4.3 m 38.0
& g m 38.0
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ary ) — MEEYREL T

a7 ) — hEE(3) 0 & 0 &
B
150,
] BT A= 0.15%x0.95
8 = 0.143 m?2
‘|7 —F
RiE#H= V= 0143 x 115 = 1.6 m3
e v —b
RiE#H= V=
& W B C N S T £
vy —-rEE(3) R No. 6 + 7.7 No. 6 +16.2 m 115
& g m 11.5
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ary ) — MEEYREL T

a7 ) — MEE(4)

150

B E A= 0.15%x0.0.52

= 0.078 m?2
|EHaI)—F
RiE#H= V= 0.078 x 10.8 = 0.8 m3
$REFa> o) —k
miE#H= V=
N : = L -
& ¥ A A z Bifsg =
vy —-rEE(4) L No. 6 +11.9 No. 7 + 3.1 m 10.8
& 2 m 10.8
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ary ) — MEEYREL T

BT oy 7 (1)

Fv k2 x> H=1.00m
g
HBEETJTOvS V= 0.40x0.40 % 0.40
3 H—KL—JL Gr-C-2B
e V= 0064 m3/ERT
ZE®EoJov o ) | §
EFHIAVI)—
RiE#H= 0.064 x 14.0 = 09 m3
$Epar o —bk
miE#H=
Nzl Y™ w =
% Al = By % B
E@EJoOvoQ) No. 0 +10.8 No. 1 & 5.0
400 X 400 X 400
No. 1+ 6.9 No. 2 + 35 & 9.0
o {& 14.0
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ary ) — MEEYREL T

HiET 2y 7 (2) g -
B
|| Fv b 7= A () FEQ)
|
§ HEBEIJovo (2
1180
HE#EJOvs(2) V= 0.18%0.18x0.45
= 0.015 m3/EFR
|EHaI)—F
iEH= V= 0.015 x 12.0 = 02 m3
$REFa> o) —k
miE#H= V=
N : = e ] = =
£ W 4E A= T O
E®EJOvH(2) R No. 0 + 4.6 No. 1 & 8.0
180 %X 180 x 450
L No. 4 + 7.0 & 40
N & 12.0
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ay 7Y — MEEYEEEL T

B kA o= H E
B
8500
50 8000 5 V1= 7 X (1.0-0.6)"2/4 x 0.5
= 0.063
\ = 6% V2=85%X3.0x145-80x25x%x1.2
0 ° ° ° " ] . . . . . .
Srode) = 12.975
g g o ek AT °
$75xL250 (1@if/2m2) V3=0.2x02%05x%(7.8%X2+2.3%X2)
° . ° = 0.404
‘ V4= 71 X0.07572/4%0.25% 10
= 0.011
; s—° IV= 13453
5 B
" av71)—k
IR E V=
#Epar o) —k
IR E V= 13453 x 1.0 = 135 m3
‘l- iﬂll mn B -“- % =
% RS & z B #H = i1
1P ] C No. 0 + 9.2 No. 0 +17.7 [Eil3il 1.0
& E & 1.0

190




TE{HE-651%

& =
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HET £ 5 x
(5 Al | #E Al | 1R B AL & = =
FAI7ILNEHET = 1
TREEEIE m? 1,469
BEIFY—7Y
T 2R RC-40 t=23cm m? 1,358 (EEER)
BEIFY—7Y
RC-40 t=14cm m? 62 (B EETER)
BEIFY—7Y
RC-40 t=15cm m? 63 (B BT ER)
BEITyA—7Y
RC-40 t=25cm m? 86 (RAZR-1EIBER)
BANERERA
L ERR g RM-30 t=15cm m? 1,358 (EEER)
BANERERA
RM-30 t=10cm m? 62 (B EETER)
BAHAETAIY
2E top20 t=5cm m? 62 (EEATER))
BEBEHETAIY
x=E top13 t=5cm m? 1,358 (EEER)
AstE T BB ETAIY
top20 t=5cm m? 62 (B EETER)
BEBEHETAIY
top13 t=4cm m? 63 (& BT ER)
BEBEHETAIY
top13 t=5cm m? 86 (F’AER-1EI1HER)
18-8-25BB
gRaIvyY)—t t=10cm m? 49
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TAI7TVMEET & & =x

& | iR B G| & 2|1

TRERIE m’ 1,469
BEIFYA-T7Y

T EREE RC-40 t=23cm m’ 1,358 (EEEER)
BEIFYA-T7Y
RC-40 t=14cm m’ 62 (B E BT ER)
BEIFYA-T7Y
RC-40 t=15cm m’ 63 (T & BT EB)
BEIFYA-T7Y
RC-40 t=25cm m’ 86 (FEAER-1RIBER)
BENERERE

L ERAE RM-30 t=15cm m’ 1,358 (EEEER)
BENERERE
RM-30 t=10cm m’ 62 (B E BT ER)
BEHEMNETAIY

HE top20 t=5cm m? 62 (B EEATER))
BAEENETAIY

=RE top13 t=5cm m? 1,358 (EEEER)
AstiE D BB ETAIY
top20 t=5cm m? 62 (BB BT ER)
BAEENETAIY
top13 t=4cm m? 63 (B BT ER)
BAEENETAIY
top13 t=5cm m? 86 (RAZR-1E1BER)
18-8-25BB

gRaVY)—b t=10cm m? 49
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TFRAI7ILNGHET 51 & &
(—=HY)
% 7 it = B #H =2
TEEZEIE Al 633.53+651.42 = 1284.95
(B E &R - R EETER)
A2 63.02+62.12+24.75+34.40 = 184.29
(FEETER- A ER- 15 1HER) ZA= 1469.24 | m? 1469.2
TREKE(EEE)| A 678.03+680.14 = 1358.17 1358.2
BEIFYN—FV
RC-40 t=23cm)
TERE (RERMAm | A 31.17+30.97 = 62.14 62.1
(BEI79Y—7Y
RC-40 t=14cm)
TRERE GRERAE | A 63.02 = 63.02 63.0
(BEI79Y—7Y
RC-40 t=15cm)
TRBE(RASD @S| A 62.124+24.75 = 86.87 86.9
(BEI79Y—7V
RC-40 t=25cm)
L RERRNR (EEER)| A 678.03+680.14 = 1358.17 1358.2
(EBERERERE
RM-30 t=15cm)
LB (BERAE) | A 31.174+30.97 = 62.14 62.1

(BEMERERE
RM-30 t=10cm)
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TRI7ILNHET 57 & £
(—=HyY)
% E1 it g = =R H =
HE (REERTER) 31.174+30.97 62.14 62.1
(BEMAETATY
(20) t=5cm)
== (HEER) 678.03+680.14 1358.17 1358.2
(BEZFRETAIY
(13) t=bcm)
=B (REETER) 31.174+30.97 62.14 62.1
(AsTE T B! ZRmi i
7 RX3a2(20) t=5cm)
KB (E AR ER) 63.02 63.02 63.0
(BEZFRETAIY
(13) t=4cm)
£E(RAL- A 62.12+24.75 86.87 86.9
(BEZFRETAIY
(13) t=5cm)
BEYav)—- 48.98 48.98 49.0

(18-8-25BB
t=10cm)

195




E =
H Cl = Gt 58 &2 % 2)
BEHEE(L) TREEIE
Al o= BB Bk ] E i) & p: | I =1 BB =] E 4 L &
(m) (m) (m) (m2) (NO.4+6.09) (m) (m) (m) (m2)

NO.0 2.75 [= F 5.88
9.600 2.750 26.40 0.200 5.880 1.18

NO.0+9.60 2.75 (NO.4+6.29) 5.88
10.400 2.750 28.60 2.160 4450 9.61

NO.1 2.75 (NO.4+8.45) 3.02
10.000 2.750 27.50 5.600 2.965 16.60

NO.1+10.00 2.75 KA1-2(+14.047) 2.91
10.000 2.750 27.50 1.220 2915 3.56

NO.2 2.75 (NO.4+15.27) 292
3.920 2.750 10.78 0.980 2.945 2.89

KA1-1(+3.922) 2.75 KA2-1(+16.249) 297
8.080 2.810 22.70 " 3.750 3.140 11.78

NO.2+12.00 2.87 NO.5 3.31
8.000 3.680 29.44 5.000 3.510 17.55

NO.3 4.49 NO.5+ 5.00 3.71
3.920 5415 21.23 9.000 3.935 35.42

KE1-1(+3.922) 6.34 (NO.5+14.00) 416
5.080 8.605 43.71 0.870 4170 3.63

NO.3+ 9.00 10.87 (NO.5+14.87) 418
5.050 9.180 46.36 3.880 4165 16.16

KE1-2(+14.047) 7.49 KE2-1(+18.749) 415
5.950 6.820 40.58 1.000 4130 413

NO.4 6.15 (NO.5+19.75) 411
4,500 5.800 26.10 (NO.5+19.75) 0.000 — —

NO.4+ 4,50 5.45 =P 3.83
1.590 5.760 9.16 1.040 3.810 3.96

(NO.4+6.09) 6.07 (NO.6+0.79) 3.79
(NO.4+6.09) 0.000 — — ||(NO.6+0.79) 0.000 — —

[ At 5.88 B3 407
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=1 == i
GFrE& % 2 B
BLEER (L) TRERE

o= BB B ] T i) & b = p: | I =1 BB =] T 15 H® &
(NO.6+0.79) (m) (m) (m) (m2) (m) (m) (m) (m2)
[= Fit 407 (NO.7+16.19) 0.00

4710 3.895 18.35 0.340 2.060 0.70
NO.6+5.50 3.72 NO.7+16.53 4.12

2.120 3.605 7.64
KE2-2(+7.616) 3.49

2.380 3.350 7.97
(NO.6+10.00) 3.21

0.500 3.200 1.60
NO.6+10.50 3.19

9.500 3.080 29.26
NO.7 2.97

2540 2.945 7.48
(NO.7+2.54) 2.92

7.580 2.835 21.49
KA2-2(+10.116) 2.75

2550 3.000 7.65
(NO.7+12.67) 3.25

1.450 3.340 484
(NO.7+14.12) 3.43

1.450 3.715 5.39
(NO.7+15.57) 4,00

0.960 4.330 416
NO.7+16.53 466
NO.7+16.53 0.000 — —
=P 8.78

3.470 8.780 30.47
NO.8 8.78
Hi 160.00 633.53
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£ = =4
8 8 = G EEE 3 5
B EER(R) TRERE

B & BB ] Y (i B & BB =] Oy |E B @

(m) (m) (m) (m2) (m) (m) (m) (m2)
NO.0 3.25 (NO.4+6.29) 4.10

9.600 3.250 31.20 2.160 3915 8.46
NO.0+9.60 3.25 (NO.4+8.45) 3.73

10.400 3.250 33.80 5.600 3.240 18.14
NO.1 3.25 KA1-2(+14.047) 2.75

10.000 3.250 32.50 2.200 2.750 6.05
NO.1+10.00 3.25 KA2-1(+16.249) 2.75

10.000 3.250 32.50 " 3.750 2.750 10.31
NO.2 3.25 NO.5 2.75

3.920 3.250 12.74 5.000 2.750 13.75
KA1-1(+3.922) 3.25 NO.5+ 5.00 2.75

8.080 3.955 31.96 9.000 2.750 24.75
NO.2+12.00 4.66 (NO.5+14.00) 2.75

8.000 5.360 42.88 (NO.5+14.00) 0.000 — —
NO.3 6.06 Bl 2.37

3.920 6.405 25.11 0.870 2.370 2.06
KE1-1(+3.922) 6.75 (NO.5+14.87) 2.37

5.080 6.750 34.29 (NO.5+14.87) 0.000 — —
NO.3+ 9.00 6.75 =Pt 2.75

5.050 6.750 34.09 3.880 2.750 10.67
KE1-2(+14.047) 6.75 KE2-1(+18.749) 2.75

5.950 5.980 35.58 " 1.250 3.000 3.75
NO.4 5.21 NO.6 3.25

4.500 4.815 21.67 " 5.500 3.250 17.88
NO.4+ 4,50 442 NO.6+5.50 3.25

1.590 4.275 6.80 " 2.120 3.250 6.89
(NO.4+6.09) 413 KE2-2(+7.616) 3.25

0.200 4115 0.82 " 2.880 3.250 9.36
(NO.4+6.29) 410 NO.6+10.50 3.25
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T
I

iFEEE =)
BEHEER(R) TRERE
o= BB B ] T i) & b = p: | I =1 BB =] I ¥ | m &
(m) (m) (m) (m2) (m) (m) (m) (m2)
NO.6+10.50 3.25
9.500 3.250 30.88
NO.7 3.25
2540 3.250 8.26
(NO.7+2.54) 3.25
7.580 4.260 32.29
KA2-2(+10.116) 5.27
2550 5.595 14.27
(NO.7+12.67) 5.92
1.450 6.115 8.87
(NO.7+14.12) 6.31
1.450 6.505 9.43
(NO.7+15.57) 6.70
0.000 — —
=P 8.26
0.960 8.795 8.44
NO.7+16.53 9.33
3.470 8.925 30.97
NO.8 8.52
B 160.000 651.42
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E =
8 g = GHEEE 1 5
BHEIL) ik (REBSem+ E B 15cm+ T B8 #E23cm)
Al o= BB Bk ] E i) & p: | I =1 BB =] E ¥ | | L &
(m) (m) (m) (m2) (NO.4+6.09) (m) (m) (m) (m2)

NO.0 3.25 [= F 6.38
9.600 3.250 31.20 0.200 6.380 1.28

NO.0+9.60 3.25 (NO.4+6.29) 6.38
10.400 3.250 33.80 2.160 4,950 10.69

NO.1 3.25 (NO.4+8.45) 3.52
10.000 3.250 32.50 5.600 3.465 19.40

NO.1+10.00 3.25 KA1-2(+14.047) 3.41
10.000 3.250 32.50 1.220 3415 417

NO.2 3.25 (NO.4+15.27) 3.42
3.920 3.250 12.74 0.980 3.445 3.38

KA1-1(+3.922) 3.25 KA2-1(+16.249) 347
8.080 3.310 26.74 " 3.750 3.640 13.65

NO.2+12.00 3.37 NO.5 3.81
8.000 4180 33.44 5.000 4010 20.05

NO.3 4.99 NO.5+ 5.00 4.21
3.920 5915 23.19 9.000 4435 39.92

KE1-1(+3.922) 6.84 (NO.5+14.00) 4.66
5.080 9.105 46.25 0.870 4670 4.06

NO.3+ 9.00 11.37 (NO.5+14.87) 468
5.050 9.680 48.88 3.880 4,665 18.10

KE1-2(+14.047) 7.99 KE2-1(+18.749) 4.65
5.950 7.320 43.55 1.000 4,630 463

NO.4 6.65 (NO.5+19.75) 461
4,500 6.300 28.35 (NO.5+19.75) 0.000 — —

NO.4+ 4,50 5.95 =P 433
1.590 6.260 9.95 1.040 4310 448

(NO.4+6.09) 6.57 (NO.6+0.79) 4.29
(NO.4+6.09) 0.000 — — ||(NO.6+0.79) 0.000 — —

[ At 6.38 B3 457
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1 = -
GtEE&8 % 2 B
BLEER (L) 4 (REScm+ EBIEEE15cm+ T [BREHE23cm)
o= BB B ] E i) & b = p: | I =1 BB =] E 15 [i] H® &
(NO.6+0.79) (m) (m) (m) (m2) (m) (m) (m) (m2)
[= Fit 4.57
4710 4.395 20.70
NO.6+5.50 422
2.120 4105 8.70
KE2-2(+7.616) 3.99
2.380 3.850 9.16
(NO.6+10.00) 3.71
0.500 3.700 1.85
NO.6+10.50 3.69
9.500 3.580 34.01
NO.7 347
2.540 3.445 8.75
(NO.7+2.54) 3.42
7.580 3.335 25.28
KA2-2(+10.116) 3.25
2.550 3.250 8.29
(NO.7+12.67) 3.25
1.450 3.340 4.84
(NO.7+14.12) 3.43
1.450 3.715 5.39
(NO.7+15.57) 4.00
0.960 4.330 416
NO.7+16.53 466
H 156.530 678.03
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£ = =4
3 8 = Gt HE % 3 B
HEE(R) Gk (REBSem+ E B 15cm+ T B8 #823cm)
Al o= BB Bk ] E i) & p: | I =1 BB =] E ¥ | m L &
(m) (m) (m) (m2) (m) (m) (m) (m2)
NO.0 3.75 (NO.4+6.29) 4.60
9.600 3.750 36.00 2.160 4415 9.54
NO.0+9.60 3.75 (NO.4+8.45) 4.23
10.400 3.750 39.00 5.600 3.740 20.94
NO.1 3.75 KA1-2(+14.047) 3.25
10.000 3.750 37.50 2.200 3.250 7.15
NO.1+10.00 3.75 KA2-1(+16.249) 3.25
10.000 3.750 37.50 " 3.750 3.250 12.19
NO.2 3.75 NO.5 3.25
3.920 3.750 14.70 5.000 3.250 16.25
KA1-1(+3.922) 3.75 NO.5+ 5.00 3.25
8.080 4.455 36.00 9.000 3.250 29.25
NO.2+12.00 5.16 (NO.5+14.00) 3.25
8.000 5.860 46.88 (NO.5+14.00) 0.000 — —
NO.3 6.56 B 2.87
3.920 6.905 27.07 0.870 2.870 2.50
KE1-1(+3.922) 7.25 (NO.5+14.87) 287
5.080 7.250 36.83 (NO.5+14.87) 0.000 — —
NO.3+ 9.00 7.25 =Pt 3.25
5.050 7.250 36.61 3.880 3.250 12.61
KE1-2(+14.047) 1.25 KE2-1(+18.749) 3.25
5.950 6.480 38.56 " 1.250 3.250 4.06
NO.4 5.71 NO.6 3.25
4.500 5.315 23.92 " 5.500 3.250 17.88
NO.4+ 4,50 492 NO.6+5.50 3.25
1.590 4775 7.59 " 2.120 3.250 6.89
(NO.4+6.09) 463 KE2-2(+7.616) 3.25
0.200 4615 0.92 " 2.880 3.250 9.36
(NO.4+6.29) 460 NO.6+10.50 3.25
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-1 = _
GFrE& % 4 B)
BHEIRR) 4 (RBESem+ EEIREE15cm+ TBIEEE23cm)
o= BB B ] E i) & b = p: | I =1 BB =] I g | @ H® &
(m) (m) (m) (m2) (m) (m) (m) (m2)
NO.6+10.50 3.25
9.500 3.250 30.88
NO.7 3.25
2.540 3.250 8.26
(NO.7+2.54) 3.25
7.580 4,260 32.29
KA2-2(+10.116) 5.27
2.550 5.595 14.27
(NO.7+12.67) 5.92
1.450 6.115 8.87
(NO.7+14.12) 6.31
1.450 6.505 943
(NO.7+15.57) 6.70
0.000 — —
[= Fit 8.26
0.960 8.795 8.44
NO.7+16.53 9.33
H 156.530 680.14
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B — 1

£ =
it 8 = G EEE 5 5
1258 HR <+ &R At (R -EBESem+ L BIREE10cm+ TBE#14cm)
Al o= BB Bk ] E ¥ 1] & 5 A= B Bk =] I ¥ | m L &
(L (m) (m) (m) (m2) (R) (m) (m) (m) (m2)
NO.7+16.53 8.78 NO.7+16.53 9.33
3.470 8.780 3047 3.470 8.925 30.97
NO.8 8.78 NO.8 8.52
(NO.7+16.19) 0.00
0.340 2.060 0.70
NO.7+16.53 412
B 31.17 5 30.97
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X — 1

= ==
”-I- ﬁ = GFrE& % 1 8
GiBCEERE: S (KRB 4om+ T BIEEE15cm)
b =1 BB B ] E i) [i] & b pil| BB =] I 4 &
(m) (m) (m) (m2) (m) (m) (m) (m2)

A-1 3.50
1.610 3.550 572

A-2 3.60
5.640 5.665 31.95

A-3 7.73
0.190 7.655 145

A-4 7.58
0.120 6.895 0.83

A-5 6.21
0.560 3.105 1.74

A-6 0.00
(CADETAD
— 14.61

B-1 2.60
2.590 2.595 6.72

B-2 2.59

1.295

B 63.0




£ = =4
8 8 = G EESE 2 5
FE AL ik (REBSem+ TRBEE#E250m)

B & BB ] Y m B W = B & BB =] O | @ &
FEAERCO) (m) (m) (m) (m2) FEAER ) (m) (m) (m) (m2)
NO.0 1.40 (NO.4+8.7) 0.00

6.000 1.415 8.49 0.550 0.625 0.34
(NO.0+6.00) 1.43 D-1 1.25
0.000 — — 4950 1.250 6.19
= 0.98 D-2(KA2-1) 1.25
1.400 0.965 1.35
(NO.0+7.40) 0.95
0.000 — —
[= Fir 1.32
2.150 1.330 2.86 FEANER(4) — —
NO.0+9.60 1.34 (NO.7+0.6) 0.00
1.350 1.345 1.82 0.38 0.815 0.31
(NO.0+13.10) 1.35 E-1 1.63
" 1.48 1.815 2.69
E-2 2.00
" 7.97 2.000 15.94
E-3(KA2-2) 2.00
EAER(2) — — 5.12 2.000 10.24
(NO.1+0.50) 2.50 E-4 2.00
5.000 2500 1250 0.59 1.000 0.59
(NO.1+5.50) 2.50 E-5 0.00
ERREE — -1.20
B 62.12
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£ = =4
“+ %: = GtEE% 3 B
#E18ER ik (REBSem+ TRBEE#E250m)

Al o= BB Bk ] E i) [i7] & b = p:| I =1 BB =] E ¥ | m L
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HEMI £ i &%
& Al | #A Al | #R | B G| & =
PHEEM T = 1
Ay a2 TR H=1.8m m 78
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BEMT A ¥ B ru

£ 1 it =1 = B #H =2
(FTETERKLY)
Ay 2Tz R L = 26.0+526
H=1.8m = 78.6 m 78.6
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Ay aT xR 7 ok FH O EH  FE 10.0m&LY)
178
2000 ) 2000
I I
TAX Ay
(INATooa i)
BT TTRYIA
50.8x2.3 [ BEHOEHB
() Fita )
I
i
ATaus s g0 =
180 % 180 x 450 g 180 x 180 x 450 .8_
180
4 o i B N HAfT ¥ =
JIR Ay a BT m 10.00
(H1.80m)
HiEJovsy N= 100 / 20 = 50 & 5.00
(180 x 180 X 450)
HEHM A= 028 X 028 X 50 = 0.9 m2 0.39
(RC-40 t=100)
FRIEY V= 078 X 078 X 055 x 50 = 167 m3 1.67
HBERL V=167 - ( 018 x 018 x 045 + 028 x 028
x 010 ) x 5.0 = 156 m3 1.56
HEEFE A= 028 X 028 X 50 = 039 m2 0.39
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BEYMHEET & i R
BB A Al | 3R O | % 2|
EERiELT = 1
S IREUEL TA77 VMR RR m? 738
SHAE AR YD B EHIERR t=15cmBLTF m 51
OB TFAI7Ibb m’ 36
JEiE LR SHE bR U] B m° 0
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- =
T £ =

MEYHET ot ¥ 2 e

S i i M B

SHLERREIEL = SHLERREVELQ 738.22| m?2 738.2

(FRAT7 IV MERE AR BEIFEREY)

t=4cm)

£ 2% Bl U1 = 51.30] m 51.3

(SH%ERR BEITFERELY)

t=15cmLLTF)

ELSE A IR = 73822 x 0.05 369 [ ms 36.9

(FAT7IVE)

SESR AnEE = 5130 x 004 x 0.023 005| m 0.10

(EH2ERR DB )
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